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1. ISR SAEMH S SRIe FNTRH SR HehHEd Ae] SHreARie adve a1 AL Hion
HTHAT HEaT A 31§ 7
(2) T wiead
(b) TRH F HREE
(c) Taarm
(d) G| FR EA
TS HIVA/HI0E faumE/A stew R/d ?
(1) (a) S (c) FH (2)  (b) ST (d) w1
(@) (O wH @) (@), (© 3T (d) T
As per the Kothari Committee which elements are important for economical growth in
human resource investment ?
(a) Enough Capital
(b) Technical Knowledge and Skills
(c) Education
. (d) Capable worker group
Which of the statements given above is/are correct ?
(1) (a) and (c) only (2) (b) and (d) only
(3) (c)only (4) (a) (c) and (d) only
2. RO TS 3T REN hrAE (2013) SHerfd, AT S0 Al ArhEEIT STTHA HIURAT TAIA

avie HIoaET YaeT hell Tell AR 2
1) 40% - 60% Q) 75% - 50% (3) 50% - 50% @) 70% - 40%

What proportion of rural-urban population in India, does the National Food Security Act
(2013) try to cover respectively ? :

(1) 40% - 60% ) 75% - 50% 3) 50%-50% - (4 70% - 40%
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3. wwee dfereuisn STuR SNEE A1 |
(a) 3‘11993%11’«1%15531@
(b) ﬁgﬁfméﬁammwmwﬁwuooooﬁaﬁmmmm
(c) ¥ aior nfin vt wwTiETE SR
(d) fR qer 3= TeuiT WS e 20 § o1,

it S :
(1) sfew i JR T (2) T AR T
(3)  HawYr sHTR s (4) ETER UM qE AT

Identify the scheme which has the following characteristics :
(a) It was launched in 1993.

(b) It is meant for educated unemployed youth with famlly income of upto ¥ 40,000 per -

annum.

() Ttis for rural as well ; as urban areas. - .
(d) It's main objective is to make self - employment opportumtles avallable to youth.
Answer options : o :

(1) Indira Gandhi Rozgar Yojana  (2) Samagra Rozgar Yojana
" "(3)  Prime Minister's Rozgar Yojana ' (4) Jawahar Gram Samridhi Yojana

4. T N faumitE wR A aTl%7
(a) & HAHI ThifeAa TeeIor et 2009-10 miT qo wzna arrat
(b) Hwa@mﬂ’mﬁa W qei wereRE fen o ufeeia awatqdaﬁﬁaﬁ
(1) Fa® (a) (2) = (b) @) ;A @) TG TR
~ Which one of the following two statements is correct ?

(@) The scheme of Integrated Education for the Dlsabled children was launched in the
year 2009-10.

t'J -

(b) The scheme in vogue prov1des assistance for the inclusive education to the dlsabled
children in classes I-VIII

Answer options :
(1) Only (a) (2) Only (b) (3) Both ‘ (4) - Neither
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5. WWWWWWWMWWWW
fHeq ?
(a) W S HEIN SANRE ST
) Sa-dewa F i SR SrEeeE e S @ sReEE geet e
() ﬁ#&amaﬁqﬁaﬁEWWWmWaamwwmwaﬁw

TS R WewE L

(d) TN AT e S T mwma"r
1) (@) ® 2 @O @ GFF (@ () ()=
WHO supports countries in strengthening their capacities for organising and conducting :

(@) Epidemic and communicable diseases system research

(b) Bio-medical behavioural and health system research related to the 1mp1ementat10n
..of their strategies

(c) Cooperating with developed countries W1th a view to reshaping then: public health
research and other related training institutions as necessary ‘

- (d) Extensive research on indigenous health care systems,
Y1 Which of the statement/s is/are correct ?

1) @ Only (2) (@), ()and © @ O Only o b)y (C) and (d)

6. WWWWW@@WW@EWW%WWWWW
i $fa SR qéae Hw o 2
(a) Waﬁh&ﬂa{%ﬁlmoﬁaﬁwqﬂﬂww
(b) T T T 100 it 100,000 THA FEHT HLO.
(© . wmmomwm

-.,’ . w
M) @FE) 2 @30
@) ) A 4) (@) ®)F ()

Under the National Health Mission select the precise Health Outcome Goals estabhshed
~ inthe 12th Five Year Plan to be achieved by 2017 out of the following :

(@) Reduction of Infant Mortality Rate to 25 per thousand live births.
(b)  Reduction in Maternal Mortality Rate to 100 per 100 OOO hve b1rths
() Reduction in Total Fertility Rate to 2.0.
Answer options :
() (@) and (b (2 (2)and ()

(3 (b)and (q) : 4) (a), (b) and (9)
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e UGN 91 U QI e ol TR sk Qese SR Haid STaea S
THAET FHIUATEST T T FEATT IR Q0 A0 AT & @ FI0 A_eIq 3@ 2

(1) . S TR A (JSY) (2) T e SRR SfEE (NRHM)
(3) w9 Wy AREE (SSA) (4) 3gY (AYUSH)
As a part of strategy which of the following health programmes has to train and enhance

capacity of Panchayati Raj Institutions to supervise and manage public health services :

(1) Janani Suraksha Yojana (JSY) (2) National Rural Health Mission (NRHM)

(3) Sarva Swastha Abhiyan (SSA) (4) AYUSH

G TeTdeht <h10TdT YL STTdeh SRS HeIeA 9l Hielih 4 A9 HIEHAM (Universal
Health Coverage) SHIfa hara &L,

- (1) |aE TER (2) I G IYEASH FHEA AT AR A

(3) oI GEigE! FEvEE Eumy et (4) e o @WeuR

Which one of the issues given below is not included by the World Health Organisation in
the framework for Universal Health Coverage ?

(1) Kind of services ' (2) ‘Whom the services are to be provided

(3) Funding required for such services =~ (4) Who will provide the services

He AR S HIHT T8 S35 1987 Hedl 139 29 Witead Nerhicer Se hedl. Al
FHAUGR WIATATh] HIvIT T STATd ATt 2 ' '

(1) ST e ST HARS! fihe s RS SRS
(2) YUUE S & SfamAEe T

(3) TR ver foRfTaETE ST A g e

4 wOaEd

' In 1987, recognizing the human health hazard, 139 countries signed the Montreal Protocol.

Which of the following did the protocol establish ?'

(1) A time table for the reduction or elimination of Ozone depleting substances
(2) Efforts towards generation of no-smok zones

(3) Ban on the use of preservatives in food

(4) Al of the above

FoeAT HTATETS WA /SPACE FOR ROUGH WORK
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10. fosr, 99" Smar onfor g6 S WoW & TAHE STEHBVIN  Fleel- AR 0T FEHMETHT
T ?
(a) ftamoy Fet
OEELEIEE

(c) I THR FIOR] ARA SEedmes
(d) TeaamTr= wAE TRRIG

TAUHT IV /HIo T/ a3/ 2
1) (a) & (2)  (a) ST (b) werd
(G) (o) ®K @) (@), (o) ¥nfor(d)

The ‘Kala - Azar’ which exists in Bihar, West Bengal and Eastern U.P. is transmitted
through the :

(@) brucellosis

(b) guineaworm

(c) Dbite of a sand fly
(d) black water fever

Which of the statements given above is/are correct ?

(1) (a) only (2) (a) and (b) only
(3) (c) only 4) (@), (c) and (d)
11. A <9 faymits S 3@g e ?

(a) UK sy farer wrfwEa= gEa™ 1996 A .
(b) T FHRIHHMET G T 2020 TEG! A 0.3% T SAIGATS T AR,
gt I

(1) %33 (a) (2) %9 (b) (B) TR (4) THS TR

Which one of the following two statements is incorrect ?

(a) National Programme for control of Blindness (NPCB) was launched in the year
1996.

(b) The goal of the programme is to reduce the prevalence of blindness to 0.3% by 2020.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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AFTIRETRTT HHAV FHERIATER WA adant HIVE T G R4 ?
(a) @ THgid IR e qE=Te SUR WRA g Fal.

(b) @ g o T Faw T EN hAv fog wal.

() THATIR FHEHEY THSL M TegaX FHH @

(d) = fagia gaTSTST SNfte fashmaT=T ToATeR. SR SR

Whﬂ‘tﬁ"l‘:
(1) (a) (o) (2) (a) S0 (d)
(3) T (b) MU () 4)  (a), (c) 3T (d)

As per the Demographic Transition Theory, which of the following propositions are
true ?

(a) The theory is based on four successive stages of transition.

(b) The theory is based only on three successive stages of transition.

(c) Post transitional societies are characterised by low birth and death rates.
(d) The theory is based on the stages of economic developiment of society.
Answer options :

(1) (a)and (0) (2) (a) and (d)

(3) Only (b) and (¢) (4) (@), () and (d)

13.

1919 Tl T FAE! SARAEHT FHIFR e (ILO) | foavw el sr@egoR &M 3d;

HAVhEd FAH GHM = e, a1 SARrEeTd e 1 W T RS
(1) R, giEa 3q i s

(2) HEEE |itd, giHET A9 s wEm

(3) TSR, T 98 for IFraa Ad

(4) &R, fEE aftn SR

The International Labour Organisation (ILO), which was founded in 1919, has a uniquej
tripartite structure which provides equal justice to all. The three members of the de31gn
are :

(1) Employers, Union leaders and workers
(2) Management, Union leaders and workers
(3) Government, Political Parties and Union leaders

(4) Government, employers and workers

HoT RWMIS I /SPACE FOR ROUGH WORK
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ell=1 FHR fedr=a Aismiaen 730 § Afeaiee sfus T7Ra e Aerr e S SR ;
(1) TRV KN [HAH T JATeT TR A STHeAd 379 g Al TG .

(2) AT fohTolt STCTETIATS! e a1 ASHgR YA el S

(3) rlerr= WEaramr: ure fo. M. STau=an 31 a1 ASgR ST SUeTeRdl HE fael! .
(4) =0 wd

It is said that MGNREGA is more women friendly than the previous labour welfare
interventions because :

(1) It prescribes that at least a third of all workers be women.

(2) It makes provisions or facilities such as childcare at the worksites.
(3) It provides work within five kilometres of an applicant’s residence.
(4) All of the above.

15.  TSita it AT fapdietor Qe 2y, S wd maime) e Seefa @ o, a1 A
AR AR B TS TS 30 ?
(1) e T
@) 9 S YT Ta
(3) 60% A1 G ek ek e ek AT T
@) = T e
Rajiv Gandhi Grameen Vidutikaran Yojana aims to cover electrification of all the villages
in the country. Which villages given below have been excluded from its scope ?
(1) Tribal villages
(2) Villages in remote and hilly areas
(3) Villages in which 60% or more population is above the poverty line
(4) None of the above
16. i faumide! vk g TR ?
(a) YR WiagHE FeH-21, 7MG fawmmel Safa TR,
(b) WRATE WAIFTAT 42 AT FRAGERIIAR Farae o deae a0 gued gfaa
IO 37T
et I
(1) ¥9% (a) (2) A (b) 3 <= (4) THEE TR

Which one of the following statements is correct ?
(@) Article 21 of the Constitution of India deals with human development.

(b) The 42 Amendment to the Constitution of India included Family Planning and
Population Control Programme in the concurrent list.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
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17. WA J0 qquROT= Siaerd aaage Sohidl giere 3lle.  rdeyid A Siredl el
‘A’ .

(a) Rfdgw @it (1975) (i) O TAERUTE R

(b) THT Wl (1971) (i) & TTu=T et anfor SRreR ek A

(c) Rfggy affat (1991) (i) faumTa OOy FeRTE ST

(d) T 949 TETET WA (1989) (iv) fodta @3 gurois=t gean

it I

@ ® (© @

M @ @ @) @)
2 @) @) @ o

@ @ Gv) @ @)
@ @) @ @ @

Following are some of the major landmarks in the history of the evolution of Indias rural
credit policy. Match the following : ‘

IAI ’ - IBI

(a) Narasimham Committee (1975) (i) Formulation of new credit policy

(b) Nariman Committee (1971) (ii) Priority Sector lending and lead
Bank scheme

(¢) Narasimham Committee (1991) ' " (ii) Setting up of regional rural
banks

(d) Agriculture Credit Review Committee (1989) (iv) Introduced financial sector
reforms

Answer options :

@ ® (© (@
1 @ @ @) (v
(2 (v) @) @ G
@ O G G @)
@ @ @ @G @
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18.  STRFETSN Heuld ‘ WER WEMTT' U
(1) 3T FHEHA TFEOUAE Yo Teeal TgumT
(2) - feord) SOvAT FoAd 0T Heh 9 HEUFNGA STRIY HRIHHAT Fawmg
(3) WEHE TN FET weien i Jafaciedr §aA did gfadg
(4) SR dewia ol S @ seuw v wMed ot waR AReg guRvarsl
TihA Woh 13 W ST,
In terms of health ‘Community Participation” means the :
(1) participation of all adult members in the implementation of health programme,
(2) ability to understand the self health condition and respond to the health programmes
through active participation,
(3) people respond to the services which are planned and implemented by the
government machinery,
(4) ability to make informed health decisions and be an active participant in improving
oTie S OWIT health
19. W SRFG HIATER (WHO) ‘ IR A1 TreaT=it S47e
(1) wfRE anftr aAfaes greier quive 71d .
(2) I TS AT SATHR A STEOL.
(3) W A fehar =T WA e @ Hyel Wi, Wwﬁwﬁaﬁwmﬁ
4) Sl IR, AHfae @y onftr S dvE.
According to World Health Organisation, ‘Health’ is defined as :
(1) Overcoming physical and psychological problems completely.
(2)  Having the appropriate weight in proportion with one’s height.
(3) State of complete physical, mental and soual well being and not merely the absence
of a disease or infirmity.
(4) State of complete physical and mental wellbeing and absence of disease.
20. YEIE 9 ﬁwﬁaﬁ FIR AT TR ?

(a) gwwwﬁmﬂwmﬁﬁ?wsm@@ﬁémfmﬁﬁé
" (b) AR 1400 TEN 1961 WEA WUH FaTare TAHAT fRfota TEfhar wE Sae.

ggiat I
(1) 9% (a) 2 FB (b) (3) T (4) TS TR

Which one of the following two statements is correct ?
(@) The first male operative family planning camp was organised in Pune in 1961.
(b) Around 1400 males got operated in the first family planning camp in 1961.

Answer options :
(1) Only (a) (2) Only (b) (3)© Both (4) Neither
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. A o faeie wR e e

-.(a). Tfeet T dEEE TRue AEiT oI 49 aeR e W étrfwa

1936 HEA WXfae! Tl
(®) %Waﬁwﬁawfﬁ%ﬁwﬁﬁﬁw mzﬁﬁwfwﬁm'@%
(1) W(a) ) m(b) (3 TR (4) THETE

Which one of the following two statements is correct ?

- (a) The credit of organising the first conference on populatlon goes to the Lucknow

University. The conference was organised in 1936.

(b} Tt was Gyanchand who wrote a book titled ‘Indias Teeming Millions'.

Answer options :

1) Only@  (2) Only() () Both (4 Neither

22,

ot STEM & (3. . zﬂ)quﬁmfﬁawg@%q
(@) =9 foreror yurreia gesa s,

(b) wd o fawai=h ST At .

(d) Wﬁaﬁmmmmmmwmw

(1) (a)' ST (d) T (2 (d) (a) S () Fe

@) ®) (@ = () w= @ e . ,
What are the main objectives of establishment of UGC (University Grant ;,Cc?rm_nissiqr}) ?

(a) Co-ordination of higher education system

- (b) " Enhance the scope of all the educational dlsc1p11nes N

(c) To promote education in all the walks of life.

(d) To maintain the standard of higher E&uﬁation and Research.
Answer options : ‘ ’ o a
(1) (a) and (d) only (2) (d), (@) and (c) only
(3) (b), (a) and (c) only (4) All of the above
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23. TEIE o1 faumits! HvR 9y o ?
(a) Terq 3fcids NEwhd SEINTEE 3fedl, & wWad YRad FeartaeH e W HIO
T Q] T SR,

(b) T WS We 5 WekwHSH W anifil, At o o7 YRS e Hie Wfﬁw
mﬁmmwsﬁmméﬂ—mwﬁaﬁa@wﬁéﬁﬁ

wafet 3 :
(1) ¥ (@) (2 ¥ (b) @) ¥ (4) T

Which one of the following two statements is correct ?

(@) National Integrated Medical Association of India is the first NGO to work on Family
Planning in the independent India.

(b) International Planned Patent Hood Federation however provided financial, technical
and all other help to another NGO the Family Planning Association of India.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4 Neither

24. AT v IeTHOR ATk =y sve fafren fafesry ¥, 2007 =0 7eR; ‘g M
VIRETE ST TR AR

(1) @ i s ané

(2) e IAE ASA S M
() e wEW e T S et ot
C(4) WA, U T W S o

As per the Maintenance and Welfare of Parents and Senior Citizens Act 2007; the scope
of the term ‘Parents’ is :

(1) Only the biological father and mother
(2) Only the adoptive father and mother
(3) Biological or adoptive father and mother

(4) Biological, adoptive or step father and mother

HEAT RIS ST /SPACE FOR ROUGH WORK R PPy
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25. T TorehTareAT WeHid * SATSiifereRT SHived’ WUl 1A ?
(1) o g i T g i g e e @ e
(2) ST AT S A T e SeREE A S Y S aT
<TITE] B YIS . .
(3) TR ARG WA SFETeTe Hed FRUATIE ST ST T
(4) WS HHA faeh weEE g T Seivehel RrharvaraTeian & Sushy R,

In the context of rural development, what is the meaning of ‘Aajeevika Skills" ?

(1) Itis a project run by the NGOs to teach rural yoﬁth handicraft and handloom skills.

(2) It is the effort of health ministry to provide people with free medical services for
life - threatening diseases. '

(38) It is one of the initiatives of the government of India that seeks to promote rural
- livelihood.

(4) Itis the mission undertaken by HRD ministry to teach rural youth entrepreneurship.

26. umuﬁrmmﬁaﬁwmmﬁ%amwwwwm,%mﬂ%ﬁiw
e ? | ’
(a) mmm&rmmm
(b) TRIS FHH FIOAE FraAT
(©) mmﬁmmmmm
(d) ISFIR (W) STeH HFA QAT FHardier
FUTI®! IO/ Hor foerm/ fqem ST 18/ 3R ?
1) (@) ®x 2 (@ BT E) (3) b N (4) (b, (0) T (d)

The Pradhan Mantri Gram-Sadak Yojana (PMGSY) is a huge central investment in the
state sector as a part of :

(a) Development of rural infrastructure strategy

(b) Poverty reduction strategy

(¢) Development of rural transportation and communication strategy
(d)  Wage giving strategy .

Which of the above mentioned statements is/are correct ?

-

(1) (a)only (2) (a), (b)and () (3) (b)only 4 (b) () and (d)
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27. SR AHEEA W ded del (e, it SutigR dwEe HH FuaE T w4
v faaneaan smuen fasiagR Tied ?
(1) & @ A 2) U gfEm
(3) et A 4) e

Which philosopher says that when population increases enormously the nature takes
upon itself and makes natural disasters happen to reduce population ?

b s,

(1) Dr. Swami Nathan (2)  Emil Durkhaim
(3) Karl Marx (4) Malthus
28. e IF fquMiish! SV ARG TR ?

(a) Y ifeTHl 1983 & ST 37T TRRAAIT HTIYONC AR HeRTERU0 grefl.
(b) ReY Uiferdl 2002  HARTHR FHHt 3T Felt T GROT Aed AF TN Bt

it 39

1) %92 (a) (2) E (b) @) W= (4) T A
Which one of the following two statements is incorrect ?
(@) The Health Policy 1983 drew upon the general ideas of Alma Ata Declaration.

(b) The Health Policy 2002 was less general in approach and made more elaborate
recommendations on strategy and policy.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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29. 2014 =1 WS fasm FENEHER YRa nftn @ ISTE 3u Wi Fiw wHie SgwH o™
3R

(1) 13597 3Mfor 141 = (2) 126 =1 3mfor 136 =0

(3) 135 = for 146 =1 (4) 125 a1 3uftr 147 &0

As per the Human Development Index, 2014 the ranks of India and its neighbouring .
country Pakistan are respectively :

(1) 135t and 1415t (2) 126t and 136th

(3) 135t and 146th (4) 125t and 147t

.30, WIStcTdeR! HIvH! A 2001 HEd HrEif-aa wel fo araren e feoren geuide st
Lo s saw 3R ? | |

() T wg@m A

@ wd foe s

(3) WER 9 AfEE
(4) wEgEn MYt afae farmed e

Which of the following schemes, launched in 2001 is meant to be fulfilling India’s :
‘Millennium Development Goals” of education ?

(1) Shiksha Sahyoga Yojana
(2) Sarva Shiksha Abhiyan
(3) Saakshar Bharat Abhiyan

(4) Kasturba Gandhi Balika Vidyalaya Yojana
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31. TR T faumits! SR 9 AR ?

(a) IR AgEAr fasmTaTl FEE ey AL

(b) A N7 TRt Y-St Hieue die STEaR SR

i S

(1) ¥ (a) 2) a3 (b) @ I}IA" (4) THE R

Which one of the following two statements is correct ?

(@) Malnourishment has nothing to do with the development of brain.

(b) Marasmus and Kwashiorkor are severe forms of protein - energy malnutrition.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
32. WEhETed (et fauride S0 3R ok ?

(@) WEA IO 8 W AR

(b) ﬁ%aﬁammqﬁaa%

€) AHTVRARA TG S SUd AR(TaE A,

(d) TS Wew, AR JFEA 9 Ifagor S i siieest S5 Qv STeT 3T,
(e) TAFTHREN Y0l HEW R 3.

) Rrna Eide amww"r I A AR
et 39 : '
1) (9 2 () @) (© @ ©®

Which one of the following statements about SAARC is incorrect ?

(a) Presently there are 8 members in it.

(b) Its secretariat is located at Kathmandu

(c) The issue of Afghaniétan joiniﬁg SAARC generated a great deal of debate

(d) US and European Union and South Korea have been granted observer status.
(¢) Myanmar wants to be a full member

() Russia and New Zealand have applied for observer status.

Answer Options :

1) ( 2 @ G (¢ @@
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33.

T T TS UTd SROmEn (NUPRS) U Hecl 9% U
(1) Sreifors oo AR T YRS HEA <O

(2) TrEm S gt WYt wed e STTe Sl

3) i WEr v w8l TR SuwE giawn syasy .
(4) EEN AYS-TE T AL

One of the chief components of National Urban Poverty Reduction Strategy (NUPRS)
is : v

(1) Making available educational institutes to the urban poor.
(2) Making provisions for shelter, transport in the urban areas.
(3) Providing medical facilities to all the urban people below the péVerfyv'-"lﬁihé

(4) Ensuring slum free societies.

34.

e A faumitE B G T ?

(a) maﬁmzﬁwml%suv}aﬁﬁﬁmﬁﬁaaﬁfﬂm am&mama’rasmk

M =@ @ FmEH @ W @ T
Which one of the following two statements is correct ?

(a) Indira Awas Yojana was launched in the year 1985 only for those belonging to
Below Poverty Line and are the members of either Scheduled Castes, Scheduled
Tribes or Other Backward classes.

(b) The beneficiaries are selected by the Gramsabha.
Answer options :

(1) Only (a) (2) Only (b) (3) Both (.4)",.}I\Ie.ith<rar.

HeAT HHTATS! W /SPACE FOR ROUGH WORK

e


Admin
Line

Admin
Line


A 19 MO6

35, W FIRE A ST ST e s o
(a) TR
(b) iffeided
(0 fam
(d)
(1) (a) T @ (@) ®) 3 (o)
@) O)FR (4) (o) ST (d) P
Which of the following is/are the German Originated Indian System/s of Medicine ?

(a) Ayurveda

i | (b) Homeopathy

(c) Siddha"

. (d) Unani

Answer options :

(1) () only (2 (@) () and )
(3) (b) only (4) (c) and (d) only

36. TErd T faumidet S 9 g o1 ?
(a) ‘IS HRRTS TEOT A QEHiRl Frimd qEfauare SaeEgRl Alee 9 sreshedn

PRIE SUIE e CHIME 10 QS
(b) wfreR TG AR 4 fesvarERtar Yeft=n s 15 AR 2007 S =Ead gl
) FWsE Q) ¥ @) (@) T

Which one of the following two statements is correct ?

‘3 (a) Execution of “Tejaswini Maharashtra Rural Womens, Empowerment Programme’ is
the responsibility of Women and Child Welfare Commission.

(b) To be a beneficiary under the Balika Samrudhi Yojana the girl has to be born after
15t August 2007.

! ‘ Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) - Neither

i

H

N
:
!
1
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37. Ui W faumidet S IRe TR ?
(a) Ww@%mﬂﬂﬁaméﬂmmmmﬂﬁm

®) ,'WWWWWW’%E?W@#@WWWW
gt S
LM a“"W(a) @ W @) I} @ R

Which one of the following two statements is correct ?

(@) Inview of the gravity of the problem of Tuberculosis and in order to spread awareness
about the disease, March 24 is observed as the World TB day.

£
(b) In connection with TB it is generally said that cough lasting upto a month need not
bother you.

-Answer options :

(1) Only (a) (2) Only (b) () Both (& Neither

38. . m‘ﬁﬁvﬂm(ﬁmtﬁ@mm) 2013 STTER. YRAMS Tl s qaye] &
Aigfet SR, Wﬁﬁwwﬁaﬁmwﬁmﬂﬁmm@m
9 3nfer 54 Fa% A4 2

1) e sifn walew (2) i snf weARY
(3) maﬁrw ﬁyﬁmwﬁrﬁﬁwm '
The Sample Reglstranon System data (2013), records the mfant mortality rates for the ‘

Indian states. Identify the states from the ones given below Whlch had the mfant mortality
rates of 9 and 54 per thousand respectively :

(1) Nagaland and Karnataka (2) __Goa and Madhya Pradesh

(3) Karnataka and Kerala (4) Mizoram and West Bengal
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39. Wl FTEt TR WS Yheq N0 w1dshH feaial 3R, Wehew 2nfor IR s Fi=a1 Ay

ARG |
‘_(a) e TR STt gear
(b)) S

()  Suta mEfeEmerdrs T
d) W I i e FraToT
Ui ST
v o Aa) (b)) (@) (d)
L @ @) @) @
L@ @) ) @ @)
@) @ @ @ @)
@ ) @ @ (i)

EapC|
() F2a FESEME! 9 =Aus Fd
(i) TG ¥aT HaRMH T I
wa@%agz%sﬁawa@aw

L,
(iii) &R AR freror aqurﬁ
(iv) Fea Fame fafr smifsa .

Following are some of the projects and programmes in the health sector. Match them

appropriately :
.  Projects

- (@) Commissioning of Primary health centres

B Air-ConditiOning of ‘the ‘hospital

(c) Settingupa Medic§1 College

(d) Establishment of network of family
planning welfare centres
'/ Answer Options :

@ ® © @

1) @ @@ @) @

(2) (@) Gv) @ (@)
@ O @@ @) ()
@) Gv) @ G @i

Programmes

(i) Intensive drive for family
planning

(i) Conversion of health care

delivery system from
unipurpose to multipurpose
system ‘

(i) Mass  health  education
campaign ‘

(iv) Organising family planning

camps
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40. YRAHIT Hresten foawor =Haee g sarsan e fawiad Fel 2. o Jgd] YT SHawaq
Fnfur Sreret Uq faatu F8. Wil Hivr faa™ &I Yue=an sedld 3T 3718 ?

(1) B A ST ST [T AR WYH TEEER! TR,

(2) & A TRAE T AR el SR |

(3) B A e U 9] AR W g Jefae S,

(4) 1 ASRER AEREE a6 T g, A, WA, T Ivae FET G 9.

The Public Distribution System has evolved over a period of time in India; as a system of

management and distribution of food grains at affordable prices. Which of the following
statements is untrue about the system ?

1 This scheme operates under the joint res on31b1L1ty of the central and state
P J P
governments.

(2) The scheme is open to all the consumers in India.
(3) The scheme operates through the ration shops which sell commodltles at areasonable

rate.
(4) Basic commodities like wheat, rice, sugar, kerosene are made available through this
scheme.
41. v fowmEmEeE LR 2015 9 =S A W‘J’@Tﬁﬁl%mwﬁiﬁmmm f

e Greq FOGTE! R TAfds wed Saelt SR e ?
(a) oS ST o T 70% = HHT FHOL.

(b) ST g 25% T FHH HOIEIS THIHRT Gl
(c) oA &M g 90% T HH! HYO.

(d) <elRTAs STeT FUWOT 40% 7 STOTOL

S HIOR/ o e/ TR /a2 ; - |
1) (2 v (2) (a) ST (b) T (3) (a), (b) F() (4) (a), (b) SAMM(Q)

Which of the following global targets for 2030 in relation to child development are. likely.
to be set in the proposed world’s 193 governments meet to be held in New York in
September 2015 ? ’

(a) reduce new born mortality by 70%

(b) increase immunisation to reduce child deaths by 25%

(c) reduce child tuberculosis deaths by 90%

(d) lower chronic child malnutrition by 40%

Which of the statement/statements given above is/are correct ?

(1) () only (2 (@and(®)only () (2 B)and(©) @) (a), (b)and (d)
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42, HIAT HEETY Tl =1 AR & WET=A1 5 TEUaTE] 89 SUATd STl 3T ?
(1) e foeme e
(2) e Yfqaush HER
(3) igfae fEamn foxieh e s
(4) fomrfed T wui Searol wEE
Under which act the women are given a right to live in their maternal home as well as in
the house of their in laws ?
(1) Hindu Marriage Act
(2) Dowry Prevention Act
(3) __Domestic Violence Protection Act
(4) Married Women’s Wealth Protection Act
43. e 3 FaumiE SR dr e ?
(@) ‘wEdt ' R e famm Hemeeath fasivd: qemea et faa s
(b) 90% WE Fel HEAMA fedt NA F ARTR HIVCATE FHoHISt THeR TFA .
it 39
(1) %93 (a) (2) w5 (b) (3) <= (4) THE AR
Which one of the following two statements is correct ?
(@) ‘Khavati Loans’ are the advances extended to the tribals by the Tribal Development
Corporation particularly during the monsoons.
(b) 90% of the loans have been extended to the landless who are otherwise not eligible
for any loan.
Answer option : :
(1) Only@ . (2) Only(b) (3) Both (4) Neither
44. ST ATIVT UK Shi AT Afqege ST 3T, degl o S 3.

(1) fovarg, FreEm, yftres ST gerEmt

@) Tavarg, freEm, gmfre snfor Sgd

@) fovam, 79, A9:gEH i frsEE

) favarg, wafda, <o sufor g |

When we say that a person is morally good, we mean that the person is
(1) Trustworthy, faithful, honest and virtuous

(2) Trustworthy, faithful, honest and hard working

(3) Trustworthy, humility, sincere and faithful
(4) Trustworthy, devoted, patriot and honest

[ 4
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et S fagmiet ®ivd IFg R ?
(a) I F T Ge & 9RT TR STARAL T shetel] HeT S o WA 7o

e SfquaTIS Jawid! sHal arRvETeR fova™ dad.

(b) I HEA TS T 1988 HEA TE Hhal.
et 3w |
(1) %9 (a) (2) 9 (b) (3) & (4) THE TR
Which one of the following two statements is correct ?

(a) The Institute for Youth and Development is an institute established by the
Government of India in Bangalore which believes in harnessing the potentlal of
youth to bring about the desired social changes

(b) The Institute began its activities in 1988.

Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) , Neither

46. TcHIGITF STATTHG SIod (eI F fAHIde HIvd @Y 3Te ?
(a) TGS SHITTHH G fYe T FruT=r=n ST HI96! & S e 39
TRUA F9fFie ARH-ISH a9 g TeM STEH-YH .
(b) STewieiasy sMTmE & e g g frorait gamaee fdreames g &,
it I
e %9 (a) 2) @ (b) 3 <= 4) TR
Which one of the following two statements is correct al;out the Alcoholics Anonymous ?

(a) Alcoholics Anonymous uses one of the most effective social therapies of personal
interaction and not that of group interaction to treat the Alcoholics.

(b) Alcoholics Anonymous was started by the ex-alcoholics in the United Kingdom.
Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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47. eE A1 fovary g i ST Eiseian Shefes STeary FRUARAE W HATS RIS T
TRUA 3% 74 W 1Y FIvil Yl &1 ST The WG €@’ 1107 ‘U ST’ &1 Thequm=
AW STTHTET '
(1) ST T (2) TEAUVR T
(3) U afEy (4) T M
While Nehru believed that the tribals should not be kept as anthropological specimens for
the intellectuals merely to study them who said “leave them alone” and to follow ‘National
Park’ or isolationist approach ?
(1) J.H. Hutton , (2) Vallabhbhai Patel
(3) Elvin Verrier (4) MK Gandhi
48. UM Wil FH [WEHRIETEG S A TR ?

S s

s

(a) %Wéﬁrwﬁamaﬂﬁqﬁaﬁm & ITHAM (s el T THNI=AT) AR
3R A feet S 9 e 9 3aX &1 SR HH w0 e S, |

(b) waﬁamaﬁmwﬁﬁ@wsﬁ%wﬂ&ﬁ
WW: ‘
(1) % () 2 %@ (b) 3 = (4) TS TR

What is correct about the Prime Minister's Shram Awards ?

(@) They are given to workmen working in the departmental undertakings and the

public sector undertakings of the Central Government and State Governments only
in recognition of their outstanding contribution in the field of productivity etc.

(b) Between Shram Shree and Shram Vir the one higher in order of precedence is Shram
Shree. B

Answer options :

(1) Only (a) (2) Only (b) (3) Both @ Neither‘
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e FHearmen IRAfTTE TRHHAE 95 2 o9 SR ¥ 98d 919 HEd grehsgd
HIVCAT TRIBIHS FUATH TR 3R ?

(a) P, Aot SO HYI FA

(b) T FLA

(c) e Mo WM e

(d) TETE sTifor west helta

Tt RV /RIvE! faum/a aRET TR/ e ?

(1) (a) B (2) (b) B () (@), ®) () (4) (a) (b)T(d)
The ecological approach of child welfare requires shift from a child centred to :

(a) a family, school and community centred focus.

(b) a family centred focus.

(c) aschool and community centred focus

(d) a peer group and school centred focus.

Which of the statements given above is/are correct ? :
(1)  (a) only (2)  (b) only () (a)y ()and () (4) (a), (b)and(d)

50.

Y Yd-TRA3T AT TRIGhIa & hetl et ?

(a) RIS W% FEX FHH AR UIH TS STHAw.

(b) TS TeF HER @ SASIE JUATH TSl SFTHATE.

() e wd e qeM FET T @i Jaaedr Herdl WAk HI0AE TSt STHar.
(d) - SRTSAT UEHI AqATAT HIl WA HIOA T Gk Tl ST

AU RV /I fIEM/ TOET 3/ ?

(1) (@) wH () (a) 3 () B (3) (b) @) () ()
Micro - credit Financing starts with the assumption that the :

(a) the poor are willing to pay low interest rates to have access to finance.

(b) the poor are willing to pay high interest rates to have access to finance.

(c) the poor are willing to repay the borrowed loan abiding all the banking rules.

(d) the poor are willing to repay the borrowed loan with some outside help.

Which of the statements given above is/are correct ?
(1) (a) only (2) (@) and(c)only (3) (b)only (4) (a) (c) and (d)

54T FHTAEIS WO /SPACE FOR ROUGH WORK



Admin
Line

Admin
Line


b i - i

A

27 MO6

51. 961 oAU 1950 Al JTHw= YRAET HIvRAT RIEAHATES! 9ed gdl 7
(1) TR TR HeTg gY wasy, e, ol 3.9 sl FoAE! wed
(2) T A S e e T | |
(3) =T T TG S
(4) IRITIE qSTTen STgE AR TR TaR S0 39 S @RI
UNICEF's assistance to India for Child Welfare during 1950 was for :
(1)  relief supplies to children in need, skim milk powder, drugs, vaccines etc.
(2) __long term social anci human development needs.
(3) extensive village level nutrition programme.
(4) community use of appropriate protein rich and ready to eat food.
52. m@wgﬁaﬁmw%mﬁawgﬁmﬁﬁam Wréwgaﬁ
e WA, A aa?aﬁ Heheo T HUt Wt ?
(1) S 7. sl A | V) EIWTW%H JaEH
(3) . maeH @) q’qﬁﬂ%’ @A
The difference between girls born and girls that could have been born is called as ‘Missing
girls’. Who put forward this concept of “Missing girls’ ?.
(1) Dr. AmartyaSen .: . . (2) Dr Babasaheb Ambedkar
() Dr. Gopalan. ... .- . ‘. .. (4). Padmini Swaminathan
53. - WCies! HIVCAT T ST SHeAIEIS! Geredeh, e S0 waiedt a1 i+ Wi qar et ?

(1) . fae S () ¥ T anf R dreR
(@) #fes | "v‘(4) sicthe Fefer

Who from amongst the followmg 1dent1f1ed the three levels of intervention i.e. supportive,
supplementary and substltute for child Welfare ?

(1) Milter - _‘ - (2) Henry Mass and Richard Engler

- (3) Mary Richmond . | (4) Alfred Kadushin
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54, welterds! giufa SRISFRE IO 0N S92 v 7
(a) ST sAfeien Al waerdl
(b) HETEET G
(c) = Hifedl dHRT A e

1
|
i
1) (@) FE) (2) ¥a@ (b) ;
|
i

waiEt I

() TR (b)F () (4) e wd

Which of the following factors adversely affect unemployment among the educated
people ?

(a) Extra concession to unproductive persons.

(b) Privatization of service sector.

(c) Additional importance to Information Technology.
Answer options :

(1) Both (a) and (b) ~(2)  Only (b)
(3) Both (b) and (c) (4) Al of the above
55. fafay Tsam qae faawmmen §9 50 SuUa S HIEuR HH FHOMT Sadal e 3.
e § TF A=A Sired o,
Hear T
(a) I AW feg srifmeem () Of=Ew S
(b) A¥F T - (i) feER
(c) Tegeum fufern Aea (i) SR |
(d) TS T (iv) RN |
TqiEt I i

@@ (b) () (d)
(1) (@) @v) @ )
@ @) @) @ @
@) (v 6 @ )
@ O @ @ G
Following are some of the Voluntary Organisations working in the field of youth
development in different states for over 50 years. Match them.

Organisation State
(@) Young Men’s Hindu Association (i) West Bengal
(b) Abhay Ashram (i) Bihar
(c) Hindustan Milia Mandal (iii) Orissa
(d) Town club (iv) Maharashtra

Answer option :

(@ (b) () (d)
W @) @ 6 (@
(2) (@) @) @) ()
(3) (v) () (i) (i)
@ O @ @ (@)

I T
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56. Wa s fevene e A4 fiyew snfcamei=n a1 e qUaA Mearet UE @ie ISTER
(o) d HE B 2 |
1) e feerd 2 TEEd
(3) TE AR (4) E YEREG
As per Russel and Hiralal the position of Bhil Tribals as the oldest inhabitants of the country
is recognised by their employment in the capacity of :
(1) Village Beggar ' (2) Village Messenger
(3) Village Labour (4) Village Watchman

57. Wfec SIS Heid [Eidt faar vl =ea dat 8, il SIRd Ya STeaiAn afgeit
SR 210 U e 3. Wehal i Afecl FaqeIaR el &t Hgar= Wt aget, Marst wdt
EESARRIRIE RS U R A
(1) HieTer e C(2) WTE SeeaR
(3) T Tew | (4) e e
Who gave the following quotation with regard to Women Empowerment, “To awaken
the people, it is women who must be awakened. Once she is on the move the family
moves, the village moves, the nation moves”.
(1) Mohandas Gandhi (2) Bhimrao Ambedkar
(3) Jawaharlal Nehru (4) Indira Gandhi

'58. ‘wwifuradr’ g ek SeATe STHROT STHaT STEA @ fared s R

(@) e Sifue feRNTRTONeTR =

(b) = Wipiahgedl T T 3fad

(c) T Tehell THGIETSN WEHATH! WIURY Fard Tad

(d) SHEIdE Farar wfid yer

FOATH! HITA/HIUE faem/F SUET 8/ 2 :

1) (@) B 2 (b)®x 3) (@) ()@ (@) () (b))
A ‘norm’” is a shared expectation of behaviour that connotes :

(a) More specialised set of actions.

(b) What is considered culturally desirable and appropriate.

() Ttis a simple habit of action common to the members of group or community.

(d) They are established ways of acting in societies.
Which of the statements mentioned above is/are correct ?

(1) (=a) only (2) (b) only @) (@ (b)and () (4) (a) (b)and(d)
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. mﬁaﬁmmmﬁwﬁamm AE

(a) TFERA=AT 5 A SecieF 8.

~ (b) T 4 93 SewieN B,

(c) TSI=A=A 6 1 aqgrqﬁa-é Tl 2.

(d) aﬁﬁamﬁquﬁﬁwmwwwﬁmﬁmm

Tt HIVR/HIv g/ sHER 3R/ 3R ?

(1) (a) ®d (2 (a) ST (b) FH (3) (a) (b) ﬂTﬁ’T © @ (), @)
Displacement of Tribals from their land amounts to :

(a) Violation of fifth schedule of the Conshtuhon ,

Iy‘

(b) Violation of part IX of the Constlt'utlon »
() Violation of sixth schedule of the Constltutlon

(d) Violation of the rules of SC and ST Atrocities Act 1989

Which of the statements mentloned above is/are correct ?

1 @ Only (2) (a) and (b) Onl’y B (a), ’(b)'r‘-'andi’(C)“ '(4) * (a), (b) and (d)

60.

muammmmﬁmwawmmwwm"é
AT HIS TR el ? L

(1) o e Afee O 1980 BERE
(2) foed stiqwrsia wfeen witvg 1985 Kl

(3) el sfees wfer Tfeg 1995 fafsim

(4) W T wfwren feiade ST 40 4 w9 1996 =@

“Women empowerment as a redlstrxbutlon of soc1a1 power and control of resources in

favour of women” was defined at :

(1)  the Second World Women Conference Held in Copenhagan in 1980.
(2) the Third International Women'’s Conference at 'Nairobi in 1985.

(3) the Fourth World Conference on Women at Beijing in 1995

(4) 40t session of the UN ; Commission on status of women at New York in 199.
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61. ‘2 TS 9 TETSl A1 Ao Y
(a) HYUl 29 T SATATAT WA S e S-J89 FHI0 1 FEAiawt SRy 6o,
f (b) EYOl IR WrIfSTR ARYIER AfEe SATIRISAT SR ara HIgul.
i (c) WWQT%WWWWWW.
(d) Fot e Gure RraoTen AT SO s RRRReE R T A A

L
? et Hv/How fere/3 sAET /a2
1) (@) ®x (2) (a) SO (b) T (3) (a) MW (c) ®H (4) (a), (b) AUI(d)

The “Beti Bachao Beti Padhao (BBBP)' aims to address :

(@) The issue of declining child sex-ratio through a mass campaign across the country.
‘ (b) The issue of women atrocities through social awareness across the country.

(c) The issue of school drop-out at the primary level across the country.

(d) The issue of malnutrition and adolescent pregnancy through social education across

the country.

! Which of the statements given above is/are correct ?
(1) (a) only (2) (@ and (b)only (3) (a)and (c)only (4) (a), (b)and (d)

62. TE YAF Hud ISR § FRFH AT [EIA DA A4 JBaod R ?

1) foem - A% g YINIET HEHA
(2) FueA - IFvEiE faero

- (3) S - ™9

! (4) e THE T

Which one of the following is correctly matched in the terms of objectives of the Nehru
Yuvak Kendra vis. a. vis their programmes ?

(1) Development - Youth Leadership Trg. Programme
: (2) Organisation - Non formal education
| (3) Awareness - Social Service

(4) __None of the above
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63. 9 A AT HifeAn Mg snfqarei=a Hurw fHer, St greer, e, swrsita e Jmet
1973 T YFRITE Y FIVAT Yhed T hell ? s

(1) amcad (2) TRIRRR O IREEEIER (4) piEd

In 1973 which project was started by Baba Amte in Bharr'lragad for eradication of
malnutrition, education, training in agriculture and wildlife protection for Madiya Gond
Tribals ? , |

o

(1) Anandvan (2) Lokbiradari (3) Navsanjivan  (4) Lokjivan

64. TEIA I faumidst HIvd SIS TR ?

(a) FANIG Afae qoA o1 Qe FHE a1 i) REREe sl STRd.

(1) 9 (a) AT 3R (2) %9 (b) A AR
() = (a) T (b) I MM @) (a), (b) T A A€

Which of the following two statements is correct ?
. (@) Moral values in society and social problems are interdependent.

| (b)  For stability of moral values in society upto some extent there is a need for lawless
behaviour.

Answer option :
(1) Only (a) is correct. (2) Only (b) is correct.

(3) Both (a) and (b) are correct. (4) Neither (a) nor (b).is correct.
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65. JMHEH= SR Gerd! ferdt-2009 ' A1 STRATATHETS! g @Y e 2
(a) A=A 52% TEEi=n Far=n 18 =1 aui el foams A STHal, Wead 9 & SThsan

61% S
(b) ST STEAfIATETIh! 45% STAfaaIg YIRATd g,
Tt I
(1) s (a) (2) 9 (b) (3) < (4) THE TR

What is not true as per the UNICEF’s ‘State of the world’s children-2009" report ?

(@) 52% of I_ﬁdian women are married before their age of 18 rising to 61% in rural areas.
(b) 45% of the world’s child marriages take place in India.

Answer option :

(1), only (a) (2) only (b) (3) Both (4) Neither

66. TTEAIEAHE T TEIHIE] G131 STHUATH Al d GHIEMHRS, TUEdu areTed 9T SHEHRIAT
RITAMEIET T S arAIedi 9 1984-85 U IEiiter S0 g& et 3. Wiaifoenten
eiel JaTe Haifyea S,

(1) TSR e IFE T RN

(2) . IENRY TSI IFE AT [ERR
(3) . 9El E IFT TAEH [TER
@) T B T

To create healthy cémpetition among the libraries towards building good stock of books
and rendering satisfactory, qualitative library services to the public, Government has started
giving awards to the Best Libraries in each class of Libraries from 1984-85. The award is
named as “ "

(1) Namdar Gokhale Utkrushta Granthalaya Purskar

(2) Dr. Babasaheb Ambedkar Utkrushta Granthalaya Purskar
(3) Dr. C.D. Deshmukh Utkrushta Granthalaya Purskar

(4) None of these
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67. wufu= e :

4)

nwwﬁﬁmw

snfearet fireqor g™, TR T

I &% G, TR T

Identify the logo :

Directorate of Art, Maharashtra State
Directorate of Maharashtra State Education
Directorate of Tribal Education Maharashtra State

Directorate of Knowledge Centre Maharashtra State
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Hifged STheHT & A& IRATT T STeheH] TR Ta=i &1 9= 1954 AL @G, e
24 TSIHT WAl UG hell STHA 1 AIvdie [k 919d. A1 ShaHamEd VE! S/ @Y 1R ?

(a) W T feoctt A9 wwHa dfreayl 9 fow gas o SR Jedie See wEiean T
AT T St 25 Y& e WA [Eioh Ardhil SUTTSH ST,

(b) T ey wrEiaa R A9 g o Hifaw o sfear afedmen W <.
i ST

(1) %33 (a) (2) %S (b) (3) o= 4) qarémﬁ

Sahitya Akademy is the Indian National Akademy of Letters. The Akademy was founded
in March 1954. The Akademy recognises and publishes books in 24 languages. What is
also true of the Akademy ?

(a) It maintains a unique multilingual library in New Delhi and similar libraries at its
regional offices at Mumbai and Banaras having books in over 25 languages.

(b) It has its Project Office at Shillong for promotion of oral and tribal literature.

Answer options :

(1) Only (a) (2): Only (b) (3) Both (4) Neither
69. Fg WHAR U fners weamr yiassm=t wrer 7e) HfRead ST afwe
AR e, '

(1) 1962, 1890 (2) 1965, 1809 (3) 1967, 1889 (4) 1969, 1889

The National Foundation for Teachers’ Welfare was set up in under the
Charitable Endowments, Act,

(1) 1962, 1890 (2) 1965, 1809 (3) 1967, 1889 (4) 1969, 1889
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70.

Trﬁ'eﬁTTTg’&SEﬂ:
- A T - B
ORI T TERR HEA
(a) A ST e (i)b 08
TV A [ -
(b) ST 9IE! §AE (i) 22
(c) dftes wrea wme= (iii) 01
TR (1)
it I :

1) @-()-A), B)-GH)-O), (©)-()-(C)
2 (@-()-A), ®)-H)-B), (©)-0)-(C)
(3)  (a)-(ii)-(B), (b)-(1)-(C), (c)-(iii)~(B)
4)  (a)-(iiD)-(B), (b)-(iii)-(C), (c)-(ii)-(A)
Match the columns :
Group A
Name of the Award

Group B

~ (a) Mahrishi Badrayan @08

Sanman Award for
youngv scholars
(b) Bhasha Bharti Sanman (i) 22

() Certificate of Honour (i) 01
~ to distinguished scholars

of Classical Tamil language |
(New)
Answer options :
(1) @-G)-(A), B)-GE-(C), ©-()-(C)
(@) @-@-(A), (B)-(iE)-B), ()-1)-(C)
(3)  (@-D)-B), (b)-(@)-(C), (c)-(ii1)-(B)

@) (@)-(iii)-(B), (b)-~(iii)-(C), (c)-(ii)-(A)

CME.C

‘ z»im

(A)

(B)

- (©

Number of Awards
.. - (A) “X 1 Lakheach (one time)

319 FAH (T D)

z 25,000 (afi®)

z 1 @ g (dfvw)
T 5 ARG TA®! T A

- Group C

Amount

(B) % 25,000/~ (Annual)
(C) % 1 Lakh eack (Annual)
¥ 5 Lakhs each one time
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71. WRAW 6 W fovafaaed omy, s @t Sfvma (FFaar) favafaaed | SR S
- favafaaem sRa. 1 favafaaeaisTy w17 @Y TR ?
(@) afma (FrFeel) freafaemed gost, fdt o 3¢ amiT dearfed wwam.
(b) el fovafaaed SwFd e Yeafed HUaEEt TR
et 3 :
(1) %9 (a) ) FB (b) @ ;A @) T
India has 6 language Universities, of which some are deemed to be Universities and some
Central Universities. What is true of these Universities ?
(@) Deemed to be Universities are for the promotion of English, Hindi and Urdu
~ Languages. |
(b) Central Universities are for the promotioh of Sanskrit Lainguage.
Answer options :
(1) Only (a) (2) Only (b) (3) - Both : (4)  Neither
72. TR G fAuHi! S g AR 2

- () fy-vifew gt Qe snfamdt formeataa ow.
(b)) A e faf st ST T TR s e e g8 @

W@W@ﬁﬁ.‘
Q) ¥B@E @ ¥ () @ FW @ =T

Which one of the following two statements is correct ?
(@) Pre-matric Scholarship is a scheme for the Tribal communities.

(b)  The scheme plays a role of level playing and of empowerment through education.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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73. TEIA S UM Hiv[ FEr SR 7
(a) UL FRed fahTd AEMHEa WIaSTTeh- @wﬁwﬂaﬁ@wm
(b) u@aaﬁwﬁﬁmwwﬁmﬂw@mm
it I
(1) 9 (a) (2) %9 (b) (3) <= (4) THE R
Which one of the following two statements is incorrect ?
(a) National Skill Development Corporation functions as a Public-Private Partnership.
(b) NSDC also supports private sector initiatives.
Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

74. T TF FALAAR. S U T I fogor gei s wed wwaren st
3.9, 2013 AL GE el Ao, Fd A 9ea (I ST TSGR 65 : 35 ST FHITd
it ferdi e ToHTehiEm 90 : 10 <A1 JHIVI) HITGS AU .
(1) TETET (2) IRTWTL  (3) TILWETL (4 ALIWWEY

is a CSS, launched in 2013 aims at providing strategic funding to eligible

state higher educational institutions. The central funding (in the ratio of 65 : 35 for general
category states and 90 : 10 for special category states) would be norm based.
(1) SSA (2) RMSA (3) NASA - =(4)__RIISA

75. WEEE! FIUR/FI0R faue/ fHun ateR o/ e ?

() TN gfavmEa faenel e, Sar Sew $a 11 &t WA TR fsenada e e/

WWW@W&WW&WWW%HWW

1.4.2007 IR GATG Fed e,

(b) 1lwwmmammwwwm
fersaeeit <o G Felt IR

i 36T

(1) (a) 3T (b) = THT R (2) (a) U (b) I AR AR

(3) (a) TR (b) TIH e (4) (a) T TR (b) TR AR

Which statement/statements is/are correct from the following statements ?

(a) The National Merit Scholarship Scheme, the objective of which was to provide
financial assistance to Meritorious students studying from Post-matric to Post-graduate
level in Government schools/Colleges and Universities has been discontinued with
effect from 15t April 2007.

() A New Central Sector Scheme of Scholarship for College and University students
has been introduced during the XI Five Year Plan.

Answer options : : ”

(1) (a) and (b) both are incorrect. (2) (a) and (b) both are correct.

(3) (a) is correct, (b) is incorrect. (4) (a) is incorrect, (b) is correct.
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oA TE-B
TSR A AR
(a) SIS wifter T &S dEwiwia WER () Fud Tl g

(b R TR () TLE TR
(c) T astw=m (i) wE K Fewea
(d) " HEFd, el HRA T w v '

@ ') (© (@

1 @ @ & @
@0 @ @) @
@) 0 @) 6
@ @ @ 6 @

--Match the columns :

Group - A Group - B
. i | Nameof %he Award - Organisation
| (a} Awards to Hindi Authors (i) Kendriya Hindi Sansthan
of Non-Hindi speaking States
(b) Shiksha Purskar (i) Rashtriya Sanskrit Sansthan
(c) Hindi Sevi Sanman - (iii) Central Hindi Directorate

(d) Presidential Award of Certificate
of Honourfor Sanskrit, Pali

Answei: optlons :
@B © @

1) @) () @ ()

@ O @ @) @

G O @ @ )

@ @ @ 6 @
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77. T Afew AW swgga Fvgmet afest wives tsadta faeneai=ar frsagi=an
A= e Ea & faumida! HIvR S 318 ?
(a) @ AN afedt snfve Teaa fidt s svarETen AT SvanE AT,
(b) T wEATen fEd) Fresfammen a $9 &St wm I stfer ST T IEHT 9o SASAR U

FOGEET 3R,
i 39T i
(1) %9 (a) (2) e (b) @) A (4) TR TR

Which one of the following two statements about the objectives of the Scheme of
Scholarship to students from Non Hindi speaking states for Post Matric studies in Hindi is
incorrect ?

(@) To encourage the study of Hindi in Non Hindi spedking states.

(b) To make available to the State Governments suitable persons to man teaching and
other posts where knowledge of Hindi is essential.

- Answer options :

(1) Only (a) (2) Only (b) (3) Both ~ (4) Neither

78. @i 3 T wo e G o 2
(a) Wﬁmﬁmﬁwﬁnﬂ?ﬁagﬁm%%ma{mmﬁ.
(b) ERE fameEE sHyfad SRt 9 Aqgfaq SHRTERET STHERR 15% 9 7.5 TFhd SR

4.
Wﬁﬂ‘?ﬁi‘
(1) ¥ (a) @ ¥ () (@) A 4) TR T

Which one of the following two statements is correct ?
(@) The percentage of reservation for rural students in Navodaya Vidyalaya is 75%.

(b) The reservation for SCs and STs in the Navodaya Vldyalaya is mvar:ably to the
extent of 15 and 7.5% respectively.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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79. YEie S faumite! RIv W AR 2
(a) U WIERAT AR 15 - 35 FANIAE TorRERiT H1E e 9.
(b) TETEAT AT STET AT T TERAT AR 127+ e wlleh R Fl A Gar
40% R B,
1) %93 (a) 2) ¥ (b) G) A (4 THE
Which one of the following two statements is correct ?

(a) National Literacy Mission imparts Functional literacy to neliterates in the age group
of 15 - 35. *

(b) By the end of the 10th Plan the NLM had made 127+ million persons literate of
which about 40% were females.

Answer options :

(1) Only (a) 2) Only (b) (3) Both (4) Neither

80. Wﬂaﬁ%@mﬁwﬁﬁwmﬁﬁawmﬁwwaﬁw
30 SR @ 3 GewR 2014 78 92 feall. a1 Stared E @ AE ?

(a) TR I MR WL ARWT VR RV fahrq vy e FUaars ST 01 6.
(b) T A TR TR TTESSIaT HOIH WEhd HUANE A Fa.

Tt I

(1) 9 (a) (2) S (b) @) =& (4) T

Prime Minister Mr. Narendra Modi visited Japan on 30 August - 3 September 2014 on his
first official visit abroad outside Indias immediate neighbourhood. What is not true of the
visit ?

(@) Japan agreed to cooperate with India in development of Baroda as a smart heritage
city and

(B) to rejuvenate Ganga and other rivers.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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81. , oy W= aoqiAl TSI w0, Tl 99
THI-93 R UG HI0ATH T 15T 1958 Hed [ et e,

(1) fe&&, Sosit, e (2 wepd, e, afde

(3) HEpq, T, B 4) e

A Scheme for the Presidential award of the Certificate of Honour was introduced.in the
year 1958 to honour the scholars of p and languages.
(1) Hindi, English, French (2) Sanskrit, Arabic, Persian B

(38) Sanskrit, Hindi, French (4) None of these

82. @ BN faumits! ®IvK AE 3R ?
() < 3. foren @ e @ R, n@ﬂfaﬁawwmmmm
(b) A L. mm@mﬁvﬂwaﬁmwwmﬁmﬁaw
atdlt I ;
(1) %9 (a) (2) 93 (b) 3) & (4) THE TR
' Which one of the following two statements s correct ?’

(a) Vedanta e-Shiksha @ schools is a PPP model 1mp1emented in coordmatlon with
various state governments. 1

(b) Vadanta e-Shiksha is outside the Sarva Shiksha Abhiyan Scheme

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

oAl IV AT /SPACE FOR ROUGH WORK
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(c)

reft=rgef §-wew

it 39 :

1)
(2)

@

4)

@ ®
@ O @
O @ @
@ @ 0
it

Match the columns :

(@)
(b)
(©)

Group - A
Acharya

e-Pathshala

Innovative e-content

Answer options :

(1)
(2)
3)
(4)

@ B ()
@ 6 G
6 Gi) G
i) ) G

None of these

43

@)
(1)
(iif)

(i)
(iid)

MO6

T -B
ThifeA® -9 ed
IR HITHYE 4 giehAmeE

Hd I AIAEHAY JATER

Group - B
Integrated e-content Portal
In Four Quadrant Approach -

A Gateway to all Post Graduate Courses
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84. WA HTAHH HyT=Al AT Aafael A ?

(@) T HAiwe. afEite aem wews (b))  fowe doR

(c) e = @eft d) s gfaeo

it S .

(1) aa (2 (@) =@ (4) et TE

The following programmes.are run under : :

(a) NPTEL Engg. Media Content (b) Talk to Teacher

(c) A - View Virtual Classroom (d) Spoken Tutorial

Answer options :

(1) Vedant (2) Sakshat (3) NUEPA (4) None of these |
85. die fremr wreishHed __ giE qEEw gt

(a) wERa@l (b) TenE frem

(c) e fawm (d) e faemor

it I ,

M @) ®) @@ @ (@) o )

3) (@), (b) 3 (c) @) (a) S ()

Adult Education Programme includes :

(a) Literacy ‘ (b) Basic education

()  Skill development (d) Life education

Answer options :

(1) (@), () () and (d) (2) (a)and (b)

() (a), (b)and (©) (4) (a)and (9

86. T ST FAMTIET B IRT R 2

(a) TS TR I HIBR AEMHS T A |

() 10+maﬂaﬁamﬁﬁ50%ﬁwﬁwmmmmaaaﬁmﬁm

| dRr 1986 3 AR,
() Fa@ (a) (2) a3 (b)

Commission.

(b) 50% students at the 10+ stage should be diverted to vocational education was
suggested by National Educational Policy 1986.

Answer options :

(1) Only (a) (2) Only (b)

_ @) ¥ @
Which one of the following two statements is incorrect ?
(@) Operation Black Board Scheme was introduced at the instance of Kothari

(3)

Both (4) Neither
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87. TS va T A fedaR 2002 AL MRA WA YRH <hall S9TD &4 U
YT ST WUeR 4 Yiadg A ofifder for Yreifires foepramenitar wfasfier, #wTont
3NYIE, e WId, et ST fohareiie Svamhial Hedi= auaH gHaien faerd ol
amfor dsfSTeromrea TUERES YHRT HI0ATH HI0AN AU JATHES gai F0 3.

1) SEemid. (2 dAlemegd. (3) AiWeER @) Tl

The Ministry of Human Resources Development launched in December, 2002 the

which aims to upscale and support ongoing efforts in improving quality of
technical education and enchancing existing capacities of the institutions to become
dynamic, demand-driven, quality conscious, efficient and forward looking, responsive to
rapid economic and technological developments occurring both at national and
international levels. :

(1) BAIET (2) TEIQP (3) TEQIP (4) AICTE
88. WNAWEA T feramdis stRa < sAfya faemdts sufor
1) 6,33 Q) 64,2 @) 624 4) 65,1
India has language Universities, out of which ~ are Deemed-to-be
Universities and . are Central Universities.
1 633 (2) 642 3y 6,24 ‘ (4) 6,51

89. sﬁnmﬁu@qqﬁﬁmﬁaaGNOU)fa@ma wmwﬁﬁmmw
faRgE® v w4 oM. a1 FrEfeEd FE WY 3R ?

(a) U T I T, Gﬁﬁmfammmawmraﬁwa@aaﬁmmaﬁm
 fo wag arde.
(b) éwWaWWawMammm
o W(a) e @ I (4) T
The Indira Gandhi National Open University (IGNOU) has been making conscious efforts

to reach out to the girl learners especially in remote rural areas. What is true of its
rgetivities 7

(@) The setting up of a New School, School of Gender and Development Studies with
.. the aim of achieving gender justice and equity.

(b) The School designs and develops academic programmes and courses at
Bl undergraduate and graduate levels.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
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90. Y& I fauriient IR G T ?

(a) ﬁwﬁammwansﬁmwgﬁww@mw&mﬁww
R EINRISERSIEE KIS

(b) TR FSHH Y0 FAES .

uiEr 36 . , _

(1) 3 (a) 2) Fa@ (b) 3 T 4) TS T

Which one of the following two statements is correct ?

(a) The Directorate of Art (DOA) was established in the year 1969 for handling all art
institutes and colleges of graduate and post graduate level in Maharashtra.

(b)  The First Director was V.N. Adarkar

Answer options : ‘ ,
(1) Only (a) (2) Only (b) (3) Both (4) Neither

91. HRR ¥R & S wdid H181 He e wreisha e A1 Yeur Fr e A 2
(2) o FEHAN 3w 70 @Y Yie 2017 THd LR {0 .
(b) = 15aﬁaé?aagcrﬁ 53% AT AEEE 9 f@m
waidt I .
(1) 93 (a) (2) S (b) @) < (9 @@
Sakshar Bharat is the world’s largest literacy programme What is not correct in this
connection ?
(@) The programme aims at making 70 million adults literate by 2017.
(b) Only about 53% of India’s population over the age of 15 can read and write

Answer options : ‘
(1) Only (a) (2) Only (b) (3) Both . (4) Neither

92. TR M fauriie! v drg 1R ?

(a) WWHW&TWWlmzonwm 3.

(b) mmﬂéwaﬁf@mmﬁamw 9 TN e e frea.

it I

(1) ¥4 (a) (2) =S (b) @) = 4) THE

Which one of the following two statements is correct ? S

(@) The right to children to free and compulsory education act has come into force from
15t April 2011.

(b) As aresult of this right every Chlld in the age group of 6-14 w1ll be provided 9 years
of elementary education.

Answer options :

(1) Only (a) (2) Only (b) (3) Both - (4) Neither
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93. iiedl & :
Te-A TE-B
(a) TWRINIiwa = Mg ()  Sed I erEciean el
(b) &g ArREHE/ et (i) SIS T STEATArT HITTCAER SEd
oy
(© wHIstiva. =t e (i) . Feraromrean <sifa gawon

(iv) T SO et
(v) Tefi s sefia FoaE) Wi
(vi) Weforr  Serde famafa fawrast s 9o

FTeul.
it S :
(@ (b) (©
1) @)@ 00 G )
@ ), @) @6 6
@) @) v) @) ) o)
@ GO @ 6o
Match the columns :
Group - A - Group - B
(@) Objective of NPEGEL (i) Drop out girls

(b) Target Population/Beneficiaries (ii) Vocational and Life - skill education
(c) Unique features of NPEGEL (iii) Improve quality of education -
| (iv) Working girls

(v) Incentive for girls to attract them towards
education

(vi) Reduction of gender gap in education sector
Answer options :
@ (b) (c)
1) @), Gv) @) (i), (vi)
(2) (i), (vi) (i), (iii @), (v)
(3) (ii), (vi) _ (i),(iv) (ii).(v)
(4) @) @ @6 @ @)
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94. v FfFifeR wefaae=t v fafad sifvwaaranst ey , 91 99t
TeY !, S YUTR AT TUd HISH HIdWesl AU FresiTh

(1) HEIYRY, 1847, 3R, O THa
(2) RN, 1847, TV, SO MY
(3) IW T3V, 1847, T, AW T
(4) fooett, 1847, fawelt, STo” oA

"The first engineering college was established in - - in for the training
of Civil Engineers at which made use of the large workshops and public
buildings there that were erected for canal. , -

- (1) Madhya Pradesh, 1847, Indore, Upper Narmada
- (2) Maharashtra, 1847, Nashik, Upper Godavari |
(3) Uttar Pradesh, 1847, Roorkee, Upper Ganges

(4) Delhi, 1847, Delhi, Upper Yamuna

95. Wéﬁwﬁhﬁagﬁﬂmﬁﬁqﬁ%% foeneatn YIS Wedd Jaw feen
(a) ke foremera (b) TERE faEe
(© & e Q) ol o e
(e) SuSht HrEANT=AT WA o |
yaiet I _
1) ) () @) (e @ @ ®)© @
@) (@) (b) () @), (e) o (4): @) (b (), (o)

type of schools admit at least 25% students from the. disadvantaged and
economically weaker groups.

(a) Kendriya Vidyalaya (b) Navodaya Vidyalaya
- (c) Sainik Schools (d) Unaided schools

(¢) English Medium Schools

Answer options :

1) (b), (c) (d) (e) 2 @ b)) ()

3) (@), (). (), (d), (e) @ @, ®) @) @
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96.  TaTeitel e fore T -
() e TR gfrrmed 28 A wew SR,
(b) feacaels & Faftem = aow < o,
g I
(1) (a) 3T (b) SRS 3774
(2)  (a) IH 3R A (b) RIS 3.
()  (a) SR M (b) TH IR,
@) (a) 30foT (b) = T 3MRA.
Consider the following :
(a) At present there are 28 member countries in the European Union.
(b) Switzerland is a member state of the European Union
~ Answer options :
(1) (a) and (b) are correct
(2) (a) is incorrect and (b) is correct
(3) (a) is correct and (b) is incorrect
4 (@ and. (b) both are incorrect
9. i 3 S T qARE e e e e s
(1) =9, daHe (2) I, AR
(3) AT, WEvE 4) i, dfesEm
and are the biggest and the smallest countries in the EU -by surface
area respectively. '
(1) Spain, Luxembourg (2) France, Malta
(3) Germany, Cyprus (4) Sweden, Belgium
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98. (a) WEQH HANRE, 2005 AL HTAG HHA hall.

(b) FRETE STTETEA 26 SRR, 2006 WA TE A, ‘

(c) TGl TR Fl HI el Yfgat gaEavi a1 feawi=an o et ket 9 90 feawi=n
3 @een fToTema wiea g

(d) A Y WA AN Hhell 8.

VIRATSHT * Fgfordh fERTER FToT HIEeT - 2005 19 alads HIo6 fau™ W 37ed ?

(1) () 3 () (2) (a) Ffor (b) (3) (a) S (d) @) (o) 3o (d)

(a) The Act was passed by the Parliament in August, 2005.

(b) The Act came into effect from 26t October, 2006.

(c) The Act ensures that the first hearing would be held within 10 days and the case
would be disposed of within 90 days.

(d) The Actis enforceable in the whole of Indla

Which of the above statements are true about the ‘Domestic Violence Act - 2005’ of
India ?

(1) (a)and (c) (2) (a)and (b) (3) (a) and (d) 4) () and (d)

99. WA ¥ 2004 HEA Ao < Rfegree Rl (ART) Ffwd T& Frearamgd TSHAS Aom
Tened friaul w2 @ AR, gete i faumiiat vk ameid s o ?

(a) WWWWWW@WWWW@W%&T%

(b) T 1999 TR TIHANIR]/ TSY FEFANW IR/ TSH A0 IFREHAl @ GaUHId aqct
391 W TSTT SR,

e !

1) ¥ (@) @ ¥ () @ W @ wET

The trend of annual AIDS deaths is showing a steady decline since roll out of the free Anti
Retroviral Therapy (ART) programme in India in 2004. Which of the following‘two
statements is incorrect in this connection ?

(@) India has the third highest number of estimated people hvmg with HIV in the World.
(b) Since 1999 there has been a shift from HIV/AIDS awareness to behavioural change

Answer options :
(1). Only (a) (2) Only (b) (3)  Both (4) Neither .
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100. WITOdshT HIv faeM sRiaT et ?

(1) WRAKIS AFAE gFhT=l Hgaaien JOETon (1975 - 77) ek Tt foaet.

(2) S <, <o s, TR T ¥ e A g TS o St
@) vy gfee R fafsa faadia s SrIhdE TETe! T FaTeRele Jee! e,
(4) O FISH 7 1984 4 1986 A1 Flel ey a7 wR fafsa fasdio sreasr 2R
Which of the following statements is not correct ? |

(1) Human Rights movement in India got momentum after emergency (1975-77)

(2) Peasant struggles, Dalit movement, Environmental movements are parts of the
Human Rights movement.

(3) People’s Union for Civil Liberties and vDem‘ocratiC Rights was established by
Jawaharlal Nehru.

(4) Rajani Kotharl was the Pres1dent of People s Uruon for Civil L1bert1es from 1984 to
1986.

101.

FIRg TEE FHIUIG GeqETcSt RN SR,
aﬁm%m&éﬁqﬂg@w W%Wm@i%’
(@) awraﬁaw‘%mm@a? YRaTd daia s 2.

(b) W@ﬂmmﬂmmﬁwﬁmo@wmﬁsmm atrwmaarq
g JoaE! veaE.

Wfﬁ']‘?aﬂ’{': , ;
1) FS@ 2 @) (3) ¥ (4) e

Tobacco is a massive killer, killing half the peoplé who use it.

~ What is also true in this connection ?

(@) India is the largest consumer of tobacco in the world.

(b) Asperthe report of the Tobacco Control in India (2004) more than 8 lakh people die

due to tobacco consumption every year in India.
Answer Options :

(1)~ Only (a)" (2) Only (b) - (3) Both (4)" Neither '

Tl HMEG 9 /SPACE FOR ROUGH WORK
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102. TTEAT WIEEdeh! Hivel Jud Sieal Sigars fagdieor it o ?

(2) Y (b) SR

() gfew sTf (d) sefem

(e) wea qd-3rfvran

¥ v frae

(1) (a), (c) =T (d) (2) (b) = (€)

(3) (o) SO (e) (4) (b}, (d) =T (€)
Where is Female Genital Mutilation concentrated ?

(a) Europe « (b) Africa

(c) South America (d) Australia

(e) Middle East Asia

Choose the correct option :

(1)
(3)

@), (©) and () . _@ (and(e)
©and (@) @ () (dand (9

103. ‘AL A’ 99d [Rredeh! SV fqum steT et ?

(1)
2
)
4)

3.9, 1946 WA ‘YRRt =raerEn’ =t S S,
T FREAE 15 AR FHAw.
wmﬁmmwwuﬁ‘rmﬁ.

e =R fras wemw A

Which of the following is not correct about the ‘International Court of Justice’ ?

(1)
(2)
(3)
4

It was established in place of the ‘Permanent Court of Justice’ in 1946
It consists of 15 judges -
The tenure of a judge is of 9 years

All the judges are elected by the General Assembly
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104. 2014 =1 AWe o fawne wevld Seol &

(a) TEmgE (i) .0.891
(b) TS @) 0.901
- (c) SUH (iij) 0.888

(d) =feor st (iv) 0.890

Tt I
(@ (®) (9 (d

(1) @ @) @) @

) @ @ (@) (i)

@) @) @ @@ (@)

4) (v) @@ @@ (i)

Match the following as per Human Development Index of 2014 :

(a) Singapore @ 0.891

(b) Israel (i 0.901

(c) Japan (iii) 0.888

(d) South Korea (iv) 0.890

Answer options :
(@ (b) () (d)

(1) ) (@) (@v) @)

2 @ @ (@) )

@ @) @ @@ (@)

4) @) @ @@ i)

105. U A4 gk AN ¢

(a) Ty HEME WAQE! HEIAT TR HET oS Al

(b) UEE AFE o SRS FHUHHa = RIRRET FHIR FHdas 30 Seeiakist
F9@ AHaaaHie et ve T THEy 9.

(c) U AFE g% ARHS Fae deR G, U ffhal wRdtw TsTseAdd sesn
TR RivEmE wHa ST .

T A g AT S sie fagmide! St faum ater TR 2

(1) () 3fr (b) (2) (b) ®F (3) (o % (4) (o) ¥ (a)

The National Human Rights Commission (NHRC) can :

(a) involve voluntary organisations in investigation process.

(b)  the committee which recommands persons to be appointed to the NHRC comprises
amongst others the leader of oppositioni from the Lok Sabha only.

(c) complaint to the NHRC may be in Hindi, English or any language in the 8t schedule
of the Constitution of India. _

Which of the above statements about NHRC are not correct ?

(1) @and(®) () (b)only (3) (0 only (4) (0 and (a)

THeeAT HIMETS AT /SPACE FOR ROUGH WORK
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106. ‘T TTUFR wero ifufam 1955 YRawie wive Jf< arfss 999 frje ww@?
(1) dvefomdwsm (2) wAfIETE Yo
(3) rEgEA (4) §dt g

. Which of the Indian antisocial customs is eradicated by the ‘Civil Rights Protection Act
1955" under the Indian Constitution ?

(1) Bonded - Labour Tradition (2) Child - Marriage Tradition
(3)  Untouchability (4) Sati-Pratha

107. Wﬁwﬁwm
(a) ‘T ferEa’ é%HWWWme
(b) 2014 71 =W 175%311@8 TR ST e,
(c) wraren 100 ¥t 38 1O W . -
(@) 175 e s 85 1 i e,
(e) ‘cham's oA fEea 3R,
() Qe Qe a3,
e P fae s s T2 |
m e @ e @ @0

Consider the statements about corruption :

(a) ‘Transparency International’ is an institution measuring corruption in different
countries. e

(b) . The institution studied corruption in 175 countries in the year 2014,
(c) India obtained 38 marks out of 100. o

(d) India secured 85t rank amongst 175 countries.

(e) Switzerland is the top most : | |

(f)’ | Tﬁe bot{ofn .rhost is Somalié.

Which of the statements given above is incorrect ?

m © @ @ G ) @0
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108. (a) o9 TIERAT I3 IR YT FH0ITE] HHR 7.
(b) TSIEER I AT Y& AR §HdA TR =Tarerd T9T HTd.
() TSR AYFAER SN <A T49T Hd.
(d) YOE Al TFR TSR TFTEER T TEN ahid Mefia s fhan afeersd
Frewit ) 1 S T o o et sl o,
WA Ae] 5 ATAeiarad sieas! HIvd! faum ¥ed 3ed ?
(1) (), (©) (d) 2) (@) (o) () @) (@, (®), @) 4 (@ ®) ©
(a) State Governments are empowered to establish such courts.
(b) State Government establishes the courts with the concurrence of the Chief Justice of
the High Court.
(c) State Government establishes the courts by notification.
(d) For every Human Rights Court, the State Government specifies a Public Prosecutor
or appoints an advocate who has been in practice for not less than 8 years.
Which of the above statements are true about the Human Rights Courts in India ?
W ®© @ 2) @ @ @ G @ ®)(d 4) (@) () (©
109. T AT S e fedar 11, 1946 Ui Fmivr Swetedn gFawamaa & @Y &l 2

1) FFEw ges Ao gesstedy qefod Tom arem JHe Sd S 1946 - 1950 Fed=
HEASE T

2) IFEE FIB AT AHAIHST qad QAT UFRRISST @ fe fresfem.
(3) Ve Il frereetedn gl IFRES R Hew TR €.

@) == Qﬁ?ﬂ%’f

What is not true of the UNICEF created by the United Nations General Assembly on
December 11, 1946 ?

(1) Ludwik Rajchman a Polish bacteriologist, is regarded as the founder of UNICEF
who was also the first Chairman from 1946-1950.

(2) UNICEEF solely relies on the contributions from the various Governments and private
donors.

.

(3) The Executive Board is made up of representatives elected by the United Nation
General Assembly. :

(4) None of the above.

THTEAT HTMEIS AT /SPACE FOR ROUGH WORK
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110. Geitd srEiar foaR w&T W o
(a) URETET TG 1967 9 et
(b) Tl 2001 < ufeg g3 3% g,
() ¥Rd TR YEamIIad 93 .
(d) T e afeae fmR 39 e,

It I :
(1) (a) S0 (d) T MR, (2) (a) 3T (b) AT TR
(B) (b1 ()X aARa.  (4) I IH Mga.

Consider the following :
(a) ASEAN was established in 1967.
(b) . ASEAN summit of 2001 was held at Brunei.
() India is a member of ASEAN since the beginning.
(d) Central Secretariat of ASEAN is at Singapore.
Answer options : oo
(1) (a) and (d) are correct (2) (a) and (b) are correct -

(3) (b) and (d) are correct (4) All are false

111. ‘ T i goed’ Sea=n faumEn faur &1
(a) ST i Hoe’ < T RS AR e,
(b) I i TEHETN Wl .
(c) Tt &3 snftn Sfewe * Rpemefewar SferE’ -THE HTvAma Sl e
(@) ‘TauEsht’ =1 wfeErerEre ‘ AT afiTw wEfed’ T
(e) Tl FHErT bt HiEHEA AR,
AT vl fagm IEra 1R/ 31 ?
(1) (a) 3T (b) (2)  (0) = (e) (3)  (a) S (e) (4) 92 (o)
Consider the statements about ‘ILO’ [International Labour Organization].
(@) It has been established as a result of treaty of Madrid.
(b) In the beginning it was attached to the League of Nations.
(c) - It's aims and objectives are specified in the ‘Philadelphia Declaration’.
(d) The secretariat of ILO is called ‘International Labour Office’.
(e) Its training centre is in France.

" Which of the statements given about is/are incorrect ?
(1) @and () ~ (2) (c)and (e) (3) (a) and (e) 4) Just(e)

FHoeAT HIWHIE WA /SPACE FOR ROUGH WORK
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TG T g EArTHa e foae [Eia faumitet v faum weRte aned ?

(@) LA A T STARTER et Feieis from el g9 e weem foeret TR,

(b)  STRITrEAT A= S0 HEEATs FHUE ARG T HIT.

(c) & dfgut J=om o7,

(d) <. FhTTTer ¢ AN Yfget sTeaet 2.

T I ‘

(1) (a) ST (b) ) () () (3) (o) =T (d) 4) () =T (d)

Which of the following statements about the National Human Rights Commission are

wrong ?

(@) The protection of Human Rights Act lays down the rules for appointment to the
NHRC.

(b) The chairperson and the members of the Commission are appointed by the President
of India.

() Itis a Constitutional body.

(d) TJustice Venkatachaliah was the first Chairman of the Commission.

Answer options :
(1) (a)and (b) 2 () and (©) (3) () and (d) (4) (a) and (d)

113.

TS I TR, Sfeard (TAtA.) s S T ?

(a) ST T BTIO.

(b) e TEr BTIUATHTT et 2

(c) T&% It <A YTy FHxA 0.

(d) Tk goU S Fed swfad.

() et AT Tl /et

() A TEHSHT T,

T I

o © @ © @) @@ @ O
What is not an objective of the Natlonal Book Trust, India (NBT) ?
(@) to produce good books.

(b) to encourage the publication of good books.

(c) to make books available at moderate prices.

(d) to arrange book fairs and exhibitions.

(e) to maintain exhaustive libraries.

(f) to make the people book minded.

Answer options :

1 (© (2) (e () @andd) @ @
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114. ‘IFE®’ (Y U1 e SRl (HT) STeaeal ¥ A1 9 S9Td o USed df 9y it

(a) IFHEA Wadd TS AT T8I Hel. G 1946
(b) ‘IFEE' T IWEF YR FEA T FAL (i) 1953
(c) IiRA ‘STaws’ Sfr ‘ sTeRfarehal’ € veg ST, (iii) 1989

(d) STCThT=AT THhToAT ISR FeleaRt HYe Tegioan SEe Wofeedl.  (iv) 1965
Tt I ‘
(@ (b) () (d)
M 6 @ G G
(2 () (v) @) @)
(3) (v) @) G (i)
(4) (@) @) @Gv) ()

Match the facts about UNICEF [ United Nations Children’s Emergency Fund ] with the
years in which they happened :

(@) UNICEF awarded the Nobel Peace Prize (@ 1946
(b) It was established bearing the Title “UNICEF (i) 1953
(c) Terms ‘International’ and ‘Emergency’ excluded from the Title (iii) 1989
(d) Responsibility of implementation of children’s rights entrusted (iv) 1965

to it by the General Assembly of United Nations.
Answer Options :
@ ® © @
O 6 @ @ @
@ @ & 0 @
- (8)  (v) (1) (i) (i)
@ @ @ @ 6
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@mwwﬁmwmm?

(a) TS HSH TV, Th, Fad, T e I SN 2.

(b) Wwwmmﬁw

(©  ford e s Rl et o frwe, SR 49 wriaiy 9 T
(d) s@ﬁﬁmw&@xawaﬁm@w |

() Alaﬁﬁmmmmﬁﬂmmﬁawmmﬁﬁwqmwmﬁ
Taidt 39

1) ®) @ @ @ @ @ T

Which of the following statements about OPEC is incorrect ?

(@) The original members of the organization included Iran, Iraq, Kuwait, Saudi Arabia
and Venezuela.

(b) Later nine other members joined it.
(c)- TIts headquarters first at Geneva Switzerland was later shifted to Vienna, Australia.
(d) Indonesia, Ecuador and Gabon left the organisation

(6) OPEC does not raise the crude prices without reason and without consulting oil
producing companies.

Answer Options :

@ b (2). (d) 0 (3) (e) (4) None of the above

11e6.

‘A R HETUTAT &1 STFRT 3eTeHe € HHST Wi S5(Q SMTITHIe! 6y 3R

(1) Isha= geal 2) U ETHRIGE G

(3) TE GEUR (4) =0 ¥

‘Amnesty International” organisation is working in the field of ‘Human Rights’ for : -
(1) Releasing war prisonars (2) Struggle for Political Rights

(3) Prison improvement (4) All the above

HoAT HHME! ST /SPACE FOR ROUGH WORK
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117. @reftdl ger=n fa=m =1
(a) AT TR AR STRRARATT THT 30 HeH 3T,
(b) e WIETER WAt SAfaarn, @ s g afw R,
(1) (@) i (b) s oA, @ (a) ST (b) A I oM
(3). (a) SR (b) T & (4) () R (@) T oM.

Consider the following statements :

(a) There are 30 articles in the Universal Declarat1on of Human nghts
(b) As per article 5 everyone has the nght to hfe, 11berty and securlty
Answer Options :

(1) (a) and (b) are correct (2) (a) and (b) both are wrong

(3) (a) is correct (b) is wrong - (4) (b) is correct (a) is wrong

118. ‘afmmawﬁﬂwﬁw (quﬁaﬁ)mﬁwﬁmm
(@) ‘W aﬁmmwmmmm |
(b) TOAT 3.9, 2000 T 0@ .
() WRd, &M, A1 S T TH.C.FY, A FHES 37ea.
(d) TEUSLEH] A e onfdw fwem e, -

(1)  (a), (b) T (d) () e (b) e (c)
() %a® (c) AT (d) - @ wd e

Consider the statements regarding SAGQ. [South Asian Growth Quadrangle].
" (a) SAGQ has been established by SAARC.: - ,

(b).- It was established in the year 2000., - - N

(c) India, Pakistan, Nepal and Bangladesh are rnembers of the SAGQ

(d) The objective of SAGQ is economic development. .

Which of the statements given above are correct ?

(1) (a), (b) and (d) (2)  (b) and (c) only
(3) (c) and (d) only (4) © All
AT HIMHE! WA /SPACE FOR ROUGH WORK 7 o SR
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119. WA ' T AAATHHR AT’ ﬁwwwﬁaﬁaﬁmmﬁaﬂm REEEIEAICHH
g AR’ feeter S ?
(1) wEH 1249 (2) SH 12K (3) =HTH 12 4) wdH 12
Under which section Indian ‘National Human Right Commission’ has been given power
of ‘Suo-moto’ Enquiry against a public-servant ? :
(1) Section 12 B (2) - Section 12 A (3) Section 12 C (4) Section 12 D
120. (@A < faumides! Ho ARG et 2
(a) FCIFE wfufe aifw € Y wiast e faeraens 1864 Well wicl. Yokl Tgmdie
(b) YSHIE IR/ TSH HTHshTE! Tafad.
it I
(1) 9@ (a) (2) ¥ (b) (3) WA (4) TEETE
- Which one of the following two statements is not correct ?
(@) The International Committee of the Red Cross was established in 1864 at Switzerland.
The Red Cross attends to the (war) victims and the victims of the natural disasters.
(b) They also organise HIV/AIDS programmes.
Answer Options :
(1) Only (a) (2) Only (b) - (3) Both (4) Neither
121. e HAR (Sfaay § Fae) FE1 1986 F HIvw M 7osma el ?

(@) WSt 77 Gkt 8 AT A W (b) AfaE 9= =M (i TE)

(c) 3 TTHIYET VA 9 HH ) fasideia 1 9" g SHate
et 39
1 wd 2 @@ Ed  (3) (a) M0 (b) 4) (a) (b)3mI(d)

What are the prohibitions imposed by Child Labour (Prohibition and Regulation) Act
1986 ?

(a) Work between 7 pm to 8 am (b) Over time working
(c) Work for more than 3 hours (d) One hour interval for rest

Answer Options :
(1) all (2) allexcept(d) (3) (@and(b)  (4) (a),(b)and (d)

THeAT SIS AT /SPACE FOR ROUGH WORK
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122. TEAdH! HivR/ w0 faum/faum stet 3R/ 2med ?
(a) WA GEAET EH TAEG AR SHearT=n urEd R ST g 1992 TH 956
(b) T U TG Rt 9@ AN 2007, SAGGIar AfHE g fomnE 7 ¥4t 65 9y
(©) TN TOR TEIE M= aawmian <u'' STl AR de1 Heft 9 Seel 60 9N SEmEde
AHHET THIT TR AFESI 7 296 T4 TErea.
Qe IO
(1) WA (a) 2) (@ )T (E) (3) (a) 3T (C) (4) K (b)
Which of the following statements is/are correct ?

(a) Objective of an integrated programme for older persons implemented since 1992 is
to improve the quality of life of senior citizens by providing them with basic amenities.

() New National Old Age Pension Scheme for all persons above 65 years of age,
irrespective of their economic status is being implemented since 2007

(¢) UN defines a country as an ‘Ageing Nation” when the proportion of elderly
population over 60 years of age reaches 7% of the total population.

Answer Options :

(1) Only (a) (2) (a) (b)and () (3) (a)and (c) (4) Only (b)

123, ST SR TG SR S st g
(a) Toeror =] Savararet frsaash
(b) TR/ EHEAEH @ AHUEET 3.5% SR
it I :
(1) (a) () (b) F @) (4) R
Programme for the rehabilitation of the handicapped includes :
(a) Scholarship to pursue education

(b) Reservation in the Govt./public sector to the extent of 3.5%.

Answer Options :
(1) only (a) (2) only (b) (3) Both (4) Neither

HoeAT HIHTETS AT /SPACE FOR ROUGH WORK
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124. WW%M/W@WW@T@

(a)

<, TR st A ﬂlﬂﬂiﬂﬁﬁﬁ{é@ﬂqm it = S, G St g

ufas aw %0 fafvg o,

(b) .aﬁarmmaﬁ,mmwmmwmmmmw,mm
qi,aﬁﬂﬁa’*rmaﬁmmg‘éaéﬁﬁ.

() U darforss G0 1986 =1 IGRY, 6 A 11 I FERTeIar 75% Tfera srcrehi=t Aigui Eor g

C 11714 9% SENTEE We Sforq sTereRiE AIGU Bro, B K.

watdt I :

(1) o () 30T (c) 79 Grwdielt Tt SR,

(2) | fzrerﬁ(b Y ol TR SR,

| (3) faum c)wé‘ugwﬁ%ﬁmm%

) e e e T L

Which of the following statements need correction ?

(@
(b)

()

The vow given by Dr. Babasaheb Ambedkar to his followers, forbade them from
stealing, telling lies and committing carnal sins.

Dahts are segregated inall spheres of soc1a1 11fe places of worshlp, educatlon, housing,
land ownership, though not officially. :

National Policy on Education 1986 aimed at universal enrolment of 75% dalit children
in the age group of 6-11 and enrolment of all the children in the 11-14 age groups.

Answer Options :

(1)
)
3)
@

Statements (a) and (c) need correction
Statement (b) needs correction .
Statement (c) needs correction

None of the statements needs correction

THoAT HIAMEIS ST /SPACE FOR ROUGH WORK
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125, 3 3o (HAI) 9190 %1 T TR ?
| (a) To= TomaAT 1978 HeA HeA.
(b) e ST Ut [oTRRITeS e,
(c) i FEiHS Ae o 7 nflen FerEt 2.

) geme Fufsm, 93 3y, 6 TERAT, FHAN g6, Srafhd= TaarIde 96 qrifed
3TRd.

(e) T TSI FAfKHN 7ed A T A1 o1 A=A F1H FHaW el 7ed R
(6 Fr TeTe T foelt 29 o,
(g) fo=n v o, SeR, werwd, feeet, FTEg o WEM A9 IR

it Il ;-
1) () @ @
@ (@ (9 o fe@

What is not correct about Helpage India (HAI) ?

(a) HAI was established in 1978.
(b) It was born out of the initiative taken by the British charity.
(c) It attends to the elderly people and also undertakes funding.

(d) Theaged include destitutes, the aged blind, the aged leprosy patients, the aged cancer
patients and the aged patients in the geriatric hospitals.

(e) It helps A_'individuals and also provides funds to the organisations working for the
elderly people. -

(f)  TIts head office is at New Delhi
(g) Its branch offices are at Bombay, Bangalore, Calcutta, Delhi, Hyderabad and Madras.
Answer Option :

1) () 2 (@)
3 (e (4) All the three above
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126. ATHIEd THCEIS! HTH FOAT GITHS HET

(a) IR smfqueiTdt dae §w, Fat feat

(b) Trafrt snfeamsht FeamT Wees, el (qmterg)

(c) HHAIA FSTH, Gorg

(d) TS et (TS )

) T faym, @t

el T

(1) (@), b, () Fem dm sRa

@ () (@) (o) faem A ez

®) (@) () () () faur = 3w

@ (@) ) () (@) faum A e

Prominent Organisations working for the scheduled tribes are :
(a) Bharatiya Adimjati Sevak Sangh, New Delhi

(b) The Nilgiris Adivasi Welfare Association, Kotagiri (Tamil Nadu)
(c) Samatol Foundation, Mumbai

(d) Banasthali Vidyapith (Rajasthan)

(©)

Ramakrishna Mission, Shillong

Answer Options :

1)
(2)
(3)
(4)

(@), (b), (d) statements are correct
(), (d), (e) statements are correct
(@), (b), (d), (e) statements are correct

(@), (b), (c), (d) statements are correct

HEAT HTHETS T /SPACE FOR ROUGH WORK
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127. o797 el e 1995 THR [TEHATd IR HIVd STRd 7

(a)  ST9N AR AT HEATHS, TS HIACHRAA Halch® Uesgdd Qeravar a d
fomavame wam .

(b) TN AR GAAET AT QAT R FHIONAT T o5h HHSAT 272 TR [,

() oTan e e Wi, SagTHas, gfewada, A foear amfae srfemde
e qifesvdd Weravad o f Iidedl hIEH SevArd HerH ol

i 39T
1) (@) (b) ()

(2) T (c)
(@) X (b)
(4) ()

What is the aim of Rehabilitation as defined by Persons with Disabilities Act 1995 ?

(a) Enabling persons with disabilities to reach and maintain their optimal organisational,
structural and functional leveli

(b) Providing financial assistance to NGOs, working in the field of rehabilitation of the
disabled persons.

(c) Enabling persons with disabilities to reach and maintain their optimal physical,
sensory, intellectual, psychiatric or social functional levels.

Answer Options :

(1) (a), (b) and (c)

(2) Only (c)
(3)  Only (b)
(4) Only (a)

THoAT SIS AT /SPACE FOR ROUGH WORK
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128. mmmamﬁwwmammmmw

TS Bld ? ,
(a) TEH gy fewsielifad siae 1994
(b) o wfedw Sfufedis] sfa 1987 |
() ﬁéﬂ%éﬁazww
(d) TEsieteym wifaa e sfear st 1992
JRHTIT THTGYT SFHUTN HTES HTIUT YSTH FHIOTN 1
@ ® @), () (@
@ O, @ @ © @
®)  (®) () @) @), (b)
@ @ 0,0 @ @), ®), (), (@)

Which of the following legislations contain rights of the disabied persons and which provide
safe guards to the disabled persons ?

(@)
(b)
©

Persons with Disabilities Act 1994

Legal Service Authorities Act 1987
Menltal Héalth Act 1987

Rehabilitation Council of India Act 1992

Acts containing rights Acts providing safeguards

) @ © @
®), (@) @), © @)

OO @ @

(@), (), @, (@ (@), (), (@), (@
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129.

Greliadsh! HIv,/HIvT faum/faum sfiat e/ e ?

(a) FUEEHIE we R TR Aifed! HaieH FREET S T FETh SUT S EThr
e

(b) HYol TSl & aTEST SraieraTen STen fa geiEt it <o sTifia TR

(c) SireNfiTch ST STort ST QETIS raferaren sTem e waish wifed! 0 ST .

(d) Wzsﬁmﬁwmwmmﬁmwmmmﬁﬁ
Tt wifedt 0 STifam e

it I ;
- (1) B () (2) ¥ (a) M (d)
(B) 9 (a), (c) MW (d) (4) 9w (a) S (b)

Which of the following statements is/are true ?

(@) It is obligatory for all the Public Sector Units to register their vacancies with
employment exchanges.

(b) Entire Private Sector is also expected to register their vacancies with employment
exchanges.

(c). Industrial Sector Prlvate Units are expected to reglster thelr vacancies with

. -employment exchanges. :

(d) Those non-agricultural Units in Private Sectors having more than 25 workers are

expected to register their vacarcies with employment exchanges

- Answer Options :

1) only (a) 0 oy@and@
(3 only (a), (©) and (d) ) only @) and

130.

TfteT il Hifeel o ierehia {9 (DWCRA) STl 19 @Y Tt 2
(1) & T 99 1982 95 THIfers I fas@ (IRDP) Friwiata g& Hre!.

(2) AR mwmaﬁ%mawmmmﬁﬁﬁmmmﬁfﬁﬁa

e TR,

,(3) mvﬁa%mwr@aiman%aﬁmaaﬁ (0-6 %) 7 e (1445 F¥) ST FoR

oTaT,

(4) & Ao TRERAET e Afgaiat A8 20 7 2K YIEwS Td Q= Tsifeet .

What is not correct about the scheme of Development of Women and Children in Rural

Areas (DWCRA) ?

(1) It is a scheme launched in 1982 as a sitbscheme of IRDP

(2) It focusses its attention on improving the economic status of women by creating
opportunities for income generation activities

(3) It also aims at improving the survival of young children (0-6 years) and wormen
(14-45 years)

(4) It focusses on women below the poverty line everywhere all over the country.
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@Wmmmmwm

(a) YAA TR (b) e Ao widneror \
(c) Qe Teei wed (d) =t | \
it I |

(1) () () M (d) Femy = smea (2) (), (a) forem A7 o1

(3) (a), (b) =i (d) faum @ ema 4) (a), (b), (c) Taem dmg eRa

Centrally sponsored schemes for Scheduled Tribes include :

(a) Girls’ Hostels (b) Research and Training
(c) Aid to Voluntary Organizations (d) Technical Education
Answer Options :

(1) (a), (c) and (d) statements are correct (2) = (b), (a) statements are correct
- (3) (a) (b) and (d) statements are correct {4) (a), (b), (c) statements are correct

132.

‘() HMS and BMS - are involved in work related with wages arid

Wmﬁmwwwm ELEN wﬁmg@mﬁmmﬁmmﬁﬁam

gt 5

(a) BMSHINTUC mwrrﬁfwcﬁagw mﬁmmaéﬁﬁ?ﬁmwnzﬁﬁﬁmh
(b) CITU 9 AITUC. - wwmwf‘amﬁrﬂéww
(c) HMSdEBMS - 3a4 9 Fifsish GRarH« H=ar F1aid aciedl THar.
(d) aﬂaw‘ﬁwmmm%@wﬁrﬁamﬁmm

ot

™ @ (2) (a) 3T (b) (3) (b)  (c) (4) ® (d)

" Which of the following Central Unions are involved in various activities such as organising

unskilled workers, lobbying for 1eg151at10ns to improve their workmg condltlons, wages
and social security ? ,

(a) BMSand INTUC - are involved in lobbying for leglslatlons to 1mprove their Workmg
conditions. :

(b) CITU and AITUC - are involved in orgamsmg‘unskllled workers

Social security

(d) all the above central unions are involved in the above cited various activities.

Answer Options :

1) (@ (2) (a) and (b) (3) (b)and () (4) Only (d)

HEAT HIHEES A /SPACE FOR ROUGH WORK
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133, SAIgS I 9 Uik FHedW d ST HAET 2007 SR Crefteris! ware qorsiel el el
T 3NfOT BN FRETAT WA w1 44 ?
(a) SIS AT AT IETHIRIET TR S WIwTes & i ey
(b) TGS TR WIS HET
(c) TAFS TR JEIHAE 3%
waidt I ,
(1) (@, (b)) (2) T (a) @) @amp) @) @ FOE)
Which of the following are ensured and are under the purview of the Maintenance and
Welfare of Parents and Senior Citizens Act 2007 ?
(a) Need based maintenance for Parents and senior citizens and their welfare.
(b) Protection of the property of senior citizens
(c) Keeping senior citizens in the old age homes

Answer Options : o
(1) (@) (b and () (2) Only(a) (3) (a)and (b) @) (a)and (o)

134. [Eds! wiv fagr sRiER @ ?
(a) dTTE GAA e Hew/ SRR, s Teren awien dewid w F1M, awﬁaﬁw'aﬁ?ﬁ
) w4 foen sifm (wataret foeor) 2000 3, famifea geifaa qeien faaomar @y Fika

F. ,

() WA &9 FTEE 1927 § STV HTAET 1980 AHY TGN S SHER o ’
e fee TR, :

i I ;

1 (@ 2 ® @) (o) . (@) TR

" Which of the following statements is not correct ?

(a) Proposed Equal Opportunity Commission was supposed to address gnevances of
the deprived groups.

(b) Sarva Shiksha Abhlyan (Educatlon for all) 2000, focusses on marginalised children’s
.- education.

() Indian Forest Act 1927 and Forest Conservation Act 1980 contain rights and safe
guards for scheduled tribes.

Answer Options : )
1) @ 2 (b G (4) None
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135. 9Eid G fagmiieht v e 3R ?
(a) STCTHEHIHTSAT HeAIHEE! 15 FHerdl Frelshd GUHA WU Ft .41, fam it swfeen
(b) 15 FAH FRHAT THRIA/ HdTa TedeAim= faoiy foar woar=n geen v STe.
T I
(1) F9% (a) (2) 5 (b) (@) = (4) THER TR

Which one of the following two statements is correct ?

(@) The 15 point programme for the welfare of the minorities was formulated as a Prime
Minister by Mr. V.P. Singh. :

(b) The 15 point programme advised giving special consideration to the minorities in
the recruitment.

Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

136, (a) o SR (VG W) 7 HTHE AT AT T AT T gl
(b) WW(%WW?)W@WWMWWWE
(c) AT ST fashren Hedfed & fad Toryd Sieeien 199, UM AASNR 84,
et v faum st aRd ? -
(1) = (2) (a) 3 (b) (3) (b) W (c) 4) ;(La).eﬂT"""T ©

(@) Mental Health Act was in application prior to the enactment of the Persons with
Disabilities Act.

(b) ‘Leprosy cured’ are also covered under the Persons with Disabilities Act.

(c) Incomplete development of mind of a person which is specially characterised by
subnormality of intelligence, means mental illness.

Which of the above statements are correct ?

1) all (2) (a) and (b) 3 (Gand(© (4 (2)and (©
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137. AT THAHONS FJEIAS! HR TR qHET SgHIe! 3T, .
(a) WIR T TS formed
(b) O B THeS SRR T FET
(c) FSAA! FIHITSIH Hod SHawe
(d) wiEerl THHE! SRR oA ared FH
it S
1) (a), (b) faum 479 amq
) (b), (c), (d) Taem Fma e
(3) (@), (b), (c) fasm dra A
4)  (a), (b), (d) faem = s
have together caused serious problems for the aged.
(@) The disintegration system of joint families.
(b) Rapid industrialisation and Urbanisation.
(c) Changing social values.
(d) Increasing proportion of women going out of home for work.
Answer Options :
(1) (a), (b) statements are correct
(2) (b), (c), (d) statements are correct

(3) (a), (b), (c) statements are correct
(4) (a), (b), (d) statements are correct

138. (i) 609 T ITA TIF FH 9 FAAIIE FROM GO TR Yo, & HRARIS Hresita
FRO ST
(i) TORN F= T RO HESATS T A WA TN, FEGGIe S REed WA
HRE HH! FHNG Figae! S
T faumrde Fiv wsg aq@y, faum Wz‘mm@nﬁ%m%?
(a) foum & (i) wefta gowit= srafifeean fowmit Fufis
(b) faum % (i) veia SEA = Qe ST fSHon @l s
(c) Taum & (ii) wele SE&A ="FHa FHH TAONG T I T
wgidt I :
(1) FH (b) (2) % () () ®FE© (4) ()
(i)  Accidental deaths by unnatural causes among the persons aged 60 years and above
is a cause of concern in India.
"(ii) Abuse of old persons is grossly under reported in India as it is often regarded as
public affair not to be discussed with others.
Which words in the above statements need to be replaced in order to correct them ?
(a) Correction in statement (i) =unnatural to be replaced with natural.

(b) Correction in statement (ii) = public affair to be replaced by private affair.
(c) Correction in statement (ii) = grossly under reported to be replaced with correctly

reported
Answer Options :
(1) _Only (b) (2) Only () (3) (b) and (c) (4) Only (a)

ST HTATHIS AT /SPACE FOR ROUGH WORK
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139. Siiedl @@
() St fqag Fre (i) 1986
(b)  RIHT e T AT YSTIR §HT FRIRT (i) 1947
(c) 9 HMIR (fdey o fa97) wre , (iii) 2005
d) &R FAR (Frame 9 frjer) sa (iv) 1970
qIiEr IW

@@ () () (d
1) @) @ @ @)
2 @ (@v) @ ()
3 @) @) @) @
(4) (v) (@) @@ @
Match the following :

(@) Industrial Disputes Act @i 1986
(b) Mahatma Gandhi National Rural Employment Guarantee Act (i) 1947
(c) Child Labour (Prohibition and Regulation) Act (iif) 2005
(d)  Contract Labour (Regulation and abolition) Act (iv) 1970

Answer Options :

@@ () (g (d
(1) (i) @) @G (iv)
@ O @) @ @
@) @ @ @) 6
@ (v @ @ 0

‘1: AT W] hIvTear Giaen Raedn S ?
(a) YR 9 FETEEE AR TS S drsl
(b) 3G T 3 AE-Yia Auigdd gaed
(c) o= §d Wt/ UEHRIIH MeSA=AT HISAW 50% Hererd
(d) T&a ufEsT a9anesd SIREE S
arg g fae
(1) (a) M (d) 2 @ ®)(© @) (b)) @ 4) (@) (), (9 (d)
Which of the following facilities are provided to the senior citizens ?
(@) Senior Citizens Saving Scheme Account in Indian Post offices
(b) Income tax rebate upto I 3 lakh p.a.
(c) 50% concession in all mail/express trains
(d) Reserved seats in state transport buses
Choose correct options :

(1) (a) and (d) 2) (@, () () 3) (k) () (d) 4) (@), () () (@)
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141. TE@YS! Hioe SR sfau et sk fas a9 e TR 2

(a) AL ArHTRiTen ANEH T TG .
" (b) mmmwﬁmwaﬁ.
© 65 TEYET SRA AT ANTRHS U SR
(d) SR FEamHia xRl T .
watdt T
(1) (a) 3 (c) 2 (o) (@) (a) () : @ () = ()

Which of the following are not the features of the Indira Gandhi Old Age Pension |
Scheme ? '

(a) Itis non—contributory

(b) Only éitizens from rural India are éligible

(c) Citizens abqve 65 years are eligible

(d) Qﬂy ciﬁzeng belonging to BPL families are eligible
Answer Options :

(1) (a) and (c) (2) (c) and (d) (3) (a) and (d) (4) (b) and (c)

FHeAT HIHTETE AT /SPACE FOR ROUGH WORK
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142. ST el :
' RISE
(a) @79 SHEKA Hed/EHA fashd (i)
IS/ ATIUITETS! e
(b) feTeam s geEa A (i)
(c) Tt &S HITRIAT S/ Wiedres (i)
d) vHH g feuaiaifast siae=n (iv)
STATSISITETN HTOT=AT ISl
it I
@ ® (o (@
1) @ @) @) @
(@ @) @ @ )
@) @) Gv) @ )
@ (@v) (@) (@ G)
Match the following :
Scheme
(a) Assistance to disabled persons for (i)

(b)
(€)

(d)

purchase/fitting of Aids/appliances

The Deendayal Disabled Rehabilitation (ii)
Scheme

Incentives to employers in private
sector providing employment to the
disabled

Scheme for implementation of Persons (iv)
with Disability Act

(i)

Answer Options :

(1)
(2)
()
(4)

@ () (9 (@
@ (@) @) @

() @ @) ()
(i) (@v) @) (i)
(iv) @) (@) ()

MOe6

|4
AT e A dfgedt 3 a9
ERIRIE LR R RC I COE
THAR ST o FHIOAT Feheqim a1ef

~ HIRe™A

T G
fafay S Qe yeeqr=an § e
e Y= sfavfa

Service

Govt. makes payment of EPF and ESIS
for the first 3 years on behalf of
employer

Funds for projects to make

building barrier free

Physical rehabilitation

Covers all aspects of
rehabilitation and projects
covering various services
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143, FHOM 3 STE, 1948 Wvia Trefierts! FHIVR/F0R fIem/Y Sew sy md ?

(a) N HTEEE GEW 9 Wl AW A A

(b) SIET WERTS ST & ©Sh fehea fSwnsnra snenfia ae.

(c) IGTTl WEME WISl NI T e Feiia e Siwl.

m oy fraer

m @amE) @ GANg @ TWE CIRONUELIC
‘Which of the following statements is‘/ are correct regarding the Minimum Wages Act,
1948 ?

(@) There is no discrimination between men and women under the Act.

(b) The Variable Dearness Allowance (VDA) is based on the Wholesale Price Index.
(c) The VDA is revised three times in a year.

Choose the correct option :

) @ad® @ Gad© O OWE @ @bmE

144. WA T URwE B, 1992 S e oA
(@) T e YA 9 SEt .
(b) YT UISTRATHT AR SO,
{0) TAEET SR St 20,
1) @ (b)) @ @ @ (d) o (3) (b), (c), (d) @) (@) 3 ()
The objectives of the Rehablhtatlon Council of India Act, 1992 are :
(a) Standardising and Monitoring rehab. professionals
(b) To frame syllabus for rehabilization courses
(c) - Training for rehab. professionals

(d) Granting recognition to 1nst1tutes runmng rehablhtatlon courses

Choose correct option :

0 @®e @ @d @ ®) e« (4)v () and (c)
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145. We@dH! R/ fGur/3 ae R/ ?
(a) 2011 =1 STFIVATER, YRAT 2.68 HIe Al 3THT TR,
(b) TR THY AFESAA THT 35% 3R,
() TEu-Toman oTdv HRia IR 3 : 1 TR,
g I
(1) (a) 3 (b) (2) N (a) @) Q) (@) () ()
- Which of the following statements is/are correct ? |
(a) As per census 2011, there are 2.68 crore persons with disabilities inz-India. ,
(b) They constitute 3.5% of the total population.
- (¢) Ratio of male-female disabled persohs is3:1.
| ; Al}sﬁér Options :

(1) (a) and (b) @ Only@ . @) Gand() = @) (a)and(9)

146. TEH YTV HRTATET Gt HIvw 29 T 2
(1) VTSI Fahid W& L.
(2) VRIS FeTEl, T S 9isT I AT B,
(3) e feREIEIE) e Hed T
(@) el et T FErE A o,
Which of the following, is not the object of the Consumer Protection Act ?
(1) Protect the rights of the consumer.
(2) To grant an effective, inexpensive and speedy remedy to the consumers: -

(3) Establish consumer councils to protect his interests.

(4) To reduce the burden on the regular courts of such cases.

FHoeAT RIS Sy /SPACE FOR ROUGH WORK
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147. Tes BRATE fadt Bt wRel 9T ?
(a) o ST a1 R oo S AR T SR R 5 3 10 vk 3T - 2 400,

(b) <A1 Tt o1 At FEAd S miTTeet THE SRR 50 @R 3 ?1@'&311% w
Z 3000.

IV G S ?
(1) ¥ (a) @) a3 (b) @) @ (4) T TR
How much fee is required to be paid in a Consumer Forum ?

(a) For a total value of goods or services and the compensation claimed of ¥ 5-10 lakh -
Amount of fee payable T 400.

{(b) For a total value of goods or services the compensation claimed of ¥ 50 lakh - 1 crore
- Amount of fee payable ¥ 3000.

Which is correct ?

(1) Only (a) (2) Only (b) (3) Both (4)  Neither

148. TTEF HIEV HIEI, 2005 TIR S TEEA ThRHd, et feban Resgtort fetemwefter aweftera et
T HAIA T T TG FET Halga Geien a8 Fg ST Il HIGH JHUATIad
FHreraH! faar s

1) 10 feaw @ 20 fesw @) 15 faw 4) 8w

As per the Consumer Protection Regulations Act, 2005 if there is any defect in the filing of
the complaint, appeal or revision petition, the particulars of such defects shall be recorded
and the party shall be informed of the defects asking for removal of the defects within

(1) 10 days (2) 20 days (3) 15 days (4) 8 days

AT FIATATE AT /SPACE FOR ROUGH WORK
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149. e T SR 1986 TR TSR Sk o Trearsd et 9 d :
TEiet faumitet HIvd T 3R ?
(a) EEW [, YRS aEe TR
(b) T T, A=A JEAATEd |
(c) 3Ty HI, THIHS Td fafae 9%
d) 3 e, R freawiaes

(e) <, UTge fraror

(f) Tt <, AT e/ AR eTed

gatEt N .

1 @ @ (e 3 0 @) O T TR

The Consumer Protection Act 1986 promotes and protects the rights of the consumers
and provides :

Which of the following statements is incorrect ?

(a) to be protected against marketing of hazardous goods.

(by to be informed about the purity of goods.

(c) to be assured access to variety at competitive prices.

(d) to seek redressal against unscrupulous exploitation.

(e) to impart consumer education.

(f)  to be informed of the potency of goods.

Answer Options : . '

1 () (2) (e) @ O (4) _None of the above

150. Jeid < fauriis SR dra o ?
(@) Foce wRAER TER YA R 3] 19a 118 § dR A eeamd 14 feaem stad

SIUGH
(b) FoHR! faskia U=t Tl Galq TR AT 48 THAT T HB(aul §THRE
Tt I o ‘
(1) %9 (a) (2) F9@ (b) @) W= (4) TR AR

Which one of the following two statements is correct ?

(@) The admissibility of a matter in a District forum is to be decided within 14 days of
the receipt of complaint.

(b) The seizure of the commodities has to be 1nformed to the concerned consumer court
within 48 hours.

Answer Options : o , '

(1) Only (a) (2) Only (b) (3) Both " (4) Neither

-00o0-

HoAT HTHTETS ST /SPACE FOR ROUGH WORK

P.T.O.



Admin
Line

Admin
Line


MO6

80 A

A — (Y= 1 967 TE.... )

© vwgfaene fafeq Foc fafire Srie = * M (W6 56) =E. TYiaeaiiiEd Swufha a1
TR FIEER F=) FH FTAE o HIU HIOAMAT 0 HO 3R, 3 TS TS 9 WER SHITRIEK
AR SR o * wemed o Ry wiasy Fvameees sifufrm-82"" Irie SeTuR SRR
FOI AIS T SN K FAS Teh JUrEAT HIAIATAT o/ fhan 98 T g9IR @ha= ger=a e

(9) TR TEHUCRRAE AET fafd o0 Y YoeaH SHETRS € TGN Toa:sIsR TIReHaeet
e T WA SR, WIS TAET TSR AIUATgE SHSATI HATIeT SeRubEEr Wi- 1
THANETHS 7 [T Wa &7 oAy AE. '

WS FHIE

T. . 201.

AT 99T
201. TAE! IS T FOGHIE! BT God: TIH ho ?
1) T EEG gt : @ IR fFEErR
@) T TR T | @  TeES TEe
I AT IR (3) T AR W9 o AR, M 1 TN W C'(3)"! de. amd

WIHOYHIT T . 201’Ww—m“@"%aﬁawwmwmﬁﬁm

.
ONON N0

SHUFFAIS T W1 TEHARANS Yoo ades 90 oFifha FHed @Al greiar
Wa AT VIIEY Sl aTwa, ¥fwe ar Re 99 9uE @,
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